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Question Number : 1 Question Id : 6154754589 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



From the list given below 1dentify those competencies of an effective teacher which relate to
the domain of personality and attitude.

(a) Locus of control

(b) Communicating

(c) Managing

(d) Self—efficacy

(e) Teacher enthusiasm

(f) Being organised and orderly

Select the correct answer from the options given below :

(1) (a). (b) and (c) (2) (a). (d) and (e)
(3) (b). (c) and (d) (4) (d). (e) and (D
Options:

61547517301, 1
61547517302 2
61547517303, 3
E1547517304. 4

Question Number : 1 Question Id : 6154754589 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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61547517301, 1
E15475173902. 2
515475173903, 3
51547517304, 4

Question Number : 2 Question Id : 6154754590 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
In the spectrum of teaching methods which of the following will be called ‘dialogic™?

(a) Demonstration method

(b) Problem—solving method

(c) Chalk and talk method

(d) Team teaching based method
(e) Interactive presentation

(f) Tutorials

Select your answer from the options given below :

(1) (a). (b) and (c) (2) (b). (¢) and (d)
(3) (c). (d) and (e) (4) (b). (e) and (f)

Options:



E15475173905. 1
61547517306, 2
61547517307, 3
61547517308, 4

Question Number : 2 Question Id : 6154754590 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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Options:

515475173905, 1
61547517306, 2
61547517307, 3
61547517308, 4

Question Number : 3 Question Id : 6154754591 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

In which level of teaching, lower level learning outcomes get focussed?

(1) Memory level (2) TUnderstanding level
(3) Reflective level (4) Autonomous development level
Options:

51547517305, 1
615475173910, 2
615475173911, 3
E15475173912. 4



Question Number : 3 Question Id : 6154754591 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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Options:

51547517305, 1
615475173910, 2
615475173911, 3
E1547517912. 4

Question Number : 4 Question Id : 6154754592 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Which of the following evaluation systems belongs to the category of being an innovative
practice?

(1) Semesterized examinations (2) Performance evaluation
(3) Portfolio based evaluation (4) Learning outcome based evaluation
Options:

E1547517913. 1
B1547517914. 2
51547517915 3
E15475173916. 4

Question Number : 4 Question Id : 6154754592 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
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Options:

515475179121
61547517914, 2
615475173915 3
E154751731E6. 4

Question Number : 5 Question Id : 6154754593 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



The purpose of ICT use in education 1s to

(1) Attract students (2) Make teaching interesting
(3) Optimise learning outcomes (4) Promote technology culture in teaching
Options:

61547517917, 1
E15475179158. 2
E15475179143. 3
B1547517920. 4

Question Number : 5 Question Id : 6154754593 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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61547517917, 1
615475179158, 2
E15475179143. 3
E1547517920. 4

Question Number : 6 Question Id : 6154754594 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

In the post positivistic approach to research which of the following types of researches got

emphasized?
(a) Experimental research
(b) Phenomenoclogical research

(c) Ethnographic research
(d) Ex Post Facto research

(e) Action research

Give the correct answer from the options given below :

(1)  (a). (b) and (c) (2) (b), (c) and (d)
(3) (b). (c) and (e) (4) (c). (d) and (e)

Options:



BE1547517921. 1
B1547517922 2
61547517923, 3
61547517924, 4

Question Number : 6 Question Id : 6154754594 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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Options:

E1547517921. 1
B1547517922 2
B1547517923. 3
G1547517924. 4

Question Number : 7 Question Id : 6154754595 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



In which of the following formats. ‘Research Abstract’ 1s a must?

(a) Research article

(b) Seminar paper presented
(c) Thesis

(d) Research synopsis

Choose the most appropriate option from those given below :

(1) (a). (c) and (d) (2) (a).(b)and (d)
(3) (a). (b) and (c) (4) (b). (c) and (d)
Options:

615475179251
61547517926, 2
E1547517927. 3
E1547517928. 4

Question Number : 7 Question Id : 6154754595 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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B1547517926. 2
B1547517927. 3
61547517928, 4

Question Number : 8 Question Id : 6154754596 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

Which of the following sequences represents the most logical sequence 1n doing research?

(1) Identifying and defining a research problem. formulating a hypothesis, testing of
hypothesis and reporting the results

(2) Identify a research problem, defining the population and sample, collecting data and
analysis of data

(3) Survey of research. defining the research problem. collecting data and presenting the
outcomes

(4) Defining research wvarables, hypothesizing. testing of research and reporting of

research outcomes

Options:

61547517929, 1
61547517920 2
61547517921, 5
61547517922 4

Question Number : 8 Question Id : 6154754596 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

61547517929, 1
E1547517320. 2
61547517921,
61547517932 4

Question Number : 9 Question Id : 6154754597 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



A umversity teacher intends to study the relationship between level of aspiration and
achievement of rural children. Which design of research will be most appropriate in the
context?

(1) Experimental research design (2) Ex Post Facto research design
(3) Historical research design (4) Survey research design
Options:

E1547517923. 1
E15475179234. 2
61547517935 3
615475173936, 4

Question Number : 9 Question Id : 6154754597 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
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E1547517923. 1
E15475179234. 2
61547517935 3
615475173936, 4

Question Number : 10 Question Id : 6154754598 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

Hypothesis testing 1s the main concept of which type of research?

(1) Experimental research (2) Historical research
(3) Survey research (4) Exegetic research
Options:

61547517937, 1
E1547517928. 2
E1547517939. 3
51547517940, 4

Question Number : 10 Question Id : 6154754598 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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Options:

61547517937, 1
61547517928, 2
61547517939, 3
E1547517940. 4

Question Number : 11 Question Id : 6154754599 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Communication 1n the classroom takes place in which of the following levels?

(1) Opportunistic meaning (2) Surfacial meaning
(3) Noise-level meaning (4) Non-coded meaning
Options:

515475179411
61547517942 2
61547517942 3
61547517344, 4

Question Number : 11 Question Id : 6154754599 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

B1547517941. 1
61547517942 2
61547517942 3
61547517344, 4

Question Number : 12 Question Id : 6154754600 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
Effective classroom communication can transform
(1) academic administration (2) academic marketing

(3) teaching—learning process (4) management strategies



Options:

61547517945, 1
61547517946 2
E1547517347. 2
61547517948, 4

Question Number : 12 Question Id : 6154754600 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

E1547517945. 1
E1547517946. 2
B1547517947. 3
515475179458, 4

Question Number : 13 Question Id : 6154754601 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

Learner communication has relatively high potential of challenging

(1) Teaching as profession (2) Innovative and creative ideas
(3) Methods of evaluation (4) Long-held attitudes
Options:

515475179459 1
61547517950, 2
615475173951, 3
61547517952, 4

Question Number : 13 Question Id : 6154754601 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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E1547517948. 1
E15475173950. 2
51547517951, 3
61547517952, 4

Question Number : 14 Question Id : 6154754602 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Correct Marks: 2 WrongMarks: 0
Which of the following are rhetorical techniques for structuring classroom communication?

(a) Relating the day’s topic to students’ interests

(b) Providing scattered information to the target audience

(c) Smooth transition from one 1dea to another

(d) Avoiding the use of artifacts

(e) Using media to improve the quality aspect of reception of messages

(£) Opting for one-way communication

Choose the correct option from the choices given below :

(1) (a). (b) and (c) (2) (b). (c) and (D
(3) (a). (c) and (e) (4) (d). (e) and (D
Options:

51547517953, 1
61547517954, 2
615475173955, 3
E1547517956. 4

Question Number : 14 Question Id : 6154754602 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

51547517953, 1
615475173954, 2
61547517955, 3
E1547517956. 4

Question Number : 15 Question Id : 6154754603 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Given below are two statements — one is labelled as Assertion (A) and the other is labelled as

Reason (R).

Assertion (A):  Defining the objectives of the topic of dicussion 1s not necessarily the first

step 1n classroom communication

Reasons (R) : Clear defimitions of objectives make students understand the topic well.

In the light of the above stated two statements, choose the correct option from the cholces

given below :

(1) Both (A) and (R) are true and (R) 1s the correct explanation of (A)
(2) Both (A) and (R) are true and (R) is not the correct explanation of (A)
(3) (A) 1s true, but (R) 1s falze

(4) (A) 1s false. but (R) 1s true

Options:
1547517957, 1

E1547517958. 2
E1547517959. 3
61547517360, 4

Question Number : 15 Question Id : 6154754603 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
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E1547517957. 1
61547517958, 2
61547517955, 3
61547517360, 4

Question Number : 16 Question Id : 6154754604 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

A 1s father of B and C 1s sister of A. D 1s grandson of C. How 1s D related to B?

(1) Uncle (2) Nephew
(3) Cousin (4) Grandson
Options:

E15475173961. 1
BE1547517962. 2
B1547517963. 3
61547517964, 4

Question Number : 16 Question Id : 6154754604 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

ABFUTEsMC AR TAZID.CHIa sl D= BH o gayg &7

~

(1) =Tl (2) wefra
(3) == W (4) T
Options:

51547517961, 1
E15475173962. 2
61547517962, 3
E15475173964. 4

Question Number : 17 Question Id : 6154754605 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

615475173965, 1
615475173966, 2
E15475173967. 3



E15475173965. 4

Question Number : 17 Question Id : 6154754605 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:
61547517965, 1
61547517966, 2
1547517967, 2
51547517965 4

Question Number : 18 Question Id : 6154754606 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

H HPU =9, JNU =9, then DI7 =7

(1) 5 (2) 6
(3) 4 4 7
Options:

E1547517396%9. 1
E1547517970. 2
E1547517971. 3
B1547517972. 4

Question Number : 18 Question Id : 6154754606 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

aff HPU =90, JNU=90, @i DU= 7

(1) 5 (2) 6
(3) 4 & 7
Options:

E154751796%9. 1
B1547517970. 2
61547517971, 3
E1547517972. 4

Question Number : 19 Question Id : 6154754607 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Which one 1s the wrong number in the given series?

3. 13. 43. 53. 63. 83.

(1) 13 (2) 53
(3) 63 (4) &3
Options:

615475179721
61547517974, 2
E1547517975. 3
B1547517976. 4

Question Number : 19 Question Id : 6154754607 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
Correct Marks: 2 WrongMarks: 0
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3. 13, 43, 53, 63, 83

(1) 13 2y 53
(3) 63 (4) 83
Options:

515475179731
61547517974, 2
61547517975 3
E1547517976. 4

Question Number : 20 Question Id : 6154754608 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

A sum of money with compound interest becomes Rs. 2,400 1n one vear and Rs. 3,000 1in two
yvears. Find out the principal amount.

(1) Rs. 1,900 {(2) Rs. 1,910
(3) R=. 1,915 (4) Rs. 1,920
Options:

B1547517977.1
B1547517978. 2
B15475179759. 3
61547517350, 4

Question Number : 20 Question Id : 6154754608 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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(1) 1900 =. (2) 1910 %,
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Options:

E1547517977.1
E1547517978. 2
B15475179759. 3
61547517950, 4

Question Number : 21 Question Id : 6154754609 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

The term “Yogaja’ (intuitive) pertains to which of the following pramanas?

(1) Perception (2) Inference
(3) Verbal testimony (4) Comparison
Options:

61547517951, 1
61547517982, 2
E1547517983. 3
E1547517984. 4

Question Number : 21 Question Id : 6154754609 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

E1547517981. 1
B1547517982. 2
61547517983, 3
61547517954, 4

Question Number : 22 Question Id : 6154754610 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



In which of the following propositions. both can be true simultaneously but cannot be false
simultaneously?

(1) Contrary (2) Contradiction
3 Sub contrary (4) Subaltern
Options:

E1547517985. 1
B1547517986. 2
B1547517987. 3
61547517958, 4

Question Number : 22 Question Id : 6154754610 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
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Options:

51547517985, 1
61547517986, 2
E15475173987. 3
E1547517988. 4

Question Number : 23 Question Id : 6154754611 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Which of the following pramanas 1s used by classical Indian school of logic to prove the

existence of God?

(1) Arthapatti (postulation) (2) Upamana (comparison)
(3) Perception (Pratyaksa) (4) Inference (anumana)
Options:

515475179859, 1
61547517930, 2
61547517931, 3
E15475179582. 4

Question Number : 23 Question Id : 6154754611 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Tt % 3Thard i Tog 4 % (o0, 9RdE e = W 2 B a5 = G e 27

(1)  =rff (2) =9
(3) T (4) A
Options:

515475179859, 1
61547517930, 2
61547517931, 3
E1547517932. 4

Question Number : 24 Question Id : 6154754612 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

“All tigers are animals™. This 1s an example of which type of proposition?

(1) Particular Negative (2) Particular Affirmative
(3) Universal Negative (4) Umversal Affirmative
Options:

E15475179593. 1
61547517954 2
61547517935 3
E1547517936. 4

Question Number : 24 Question Id : 6154754612 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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(1)  fagm fuy (2) foum fag=
(3)  =EYm fmy (4) TEYE fEm
Options:

E1547517932. 1
61547517934, 2
E1547517935. 3
B15475179396. 4

Question Number : 25 Question Id : 6154754613 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



The inference “A mouse 1s an animal. Therefore, a large mouse 1s a large animal” commits
which one of the following fallacies?

(1) Straw man (2) Shpper slope
(3) Equivocation (4) Fallacy of composition
Options:

61547517937, 1
61547517935, 2
E1547517939%9. 3
E1547518000. 4

Question Number : 25 Question Id : 6154754613 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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(1) =@ (2) Teawdt =g
(3) A (4) @R I
Options:

61547517937, 1
E15475179395. 2
E15475179395. 3
51547518000, 4

Sub-Section Number: 2
Sub-Section Id: 615475205
Question Shuffling Allowed : Yes

Question Id : 6154754614 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (26 to 30)
Juestion Label - Comprehension



Directions (Que. : 26-30)

The following table gives the sales of computers of different types or brands over the years
2001 to 2007. Baszed on data. answer the questions (26 — 30).

Number of different types of computers sold (In thousands).

Tvpes of Computers
Lenovo | Acer | IBM | HCL
2001 20 40 50 80
2002 30 25 60 70
2003 50 50 50 55
2004 60 70 40 35
2005 70 85 70 25
2006 80 45 80 20
2007 90 60 100 | 10

Years

-

Sub questions

Question Number : 26 Question Id : 6154754615 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
The difference in the number of Acer computers sold 1n 2002 and 2005 1=

(1) 15.000 (2) 20,000
(3) 45,000 (4) 60,000
Options:

61547513001, 1
E1547518002. 2
E1547518003. 3
51547518004, 4

Question Number : 27 Question Id : 6154754616 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

The percentage increase 1n the sales of Lenovo computers in 2007 compared to sales 1n
2001 1s

(1) 200% (2) 250%
(3) 300% (4) 350%
Options:

61547518005, 1
615475138008, 2
E1547518007. 3
E1547518008. 4

Question Number : 28 Question Id : 6154754617 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Name the type of computer for which the total sale 1n all the seven years 1s maximum?

(1) IEM (2) Lenovo
(3) Acer (4) HCL
Options:

£154751800%9. 1
E1547518010. 2
E1547518011. 3
B154751801%2. 4

Question Number : 29 Question Id : 6154754618 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

In which vear, the percentage of Acer computers sold as to the total number of computers
sold, was maximum?

(1) 2003 (2) 2004
(3) 2005 (4) 2007
Options:

515475180121
615475158014, 2
615475138015, =
E154751801E6. 4

Question Number : 30 Question Id : 6154754619 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Name the type / brand of computer whose sale has decreased continuously over the vears
2001 to 2007.

(1) Lenovo (2) Acer
(3) IBM (40 HCL
Options:

61547518017, 1
615475180158, 2
E15475180143. 3
E1547518020. 4

Question Id : 6154754614 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (26 to 30)
Cesticn Label | Comprehension



e : w9 9T 26 § 30

e afetl ® 99 2001 H 2007 F 27 50 fafus TR 51991 575 & Fog0 1 ol w1 39 =
2| 31 & TR W 9vT HEA (26-30) 1 I S0
s U Tt TR S e i Hen (FEE )

; FAH H TFR
2001 20 40 50 30
2002 30 25 b0 70
2003 50 50 30 55
2004 60 70 40 35
2005 7 B85 70 25
2006 80 45 80 20
2007 o0 60 100 10

Sub questions

Question Number : 26 Question Id : 6154754615 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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(1) 15.000 (2) 20,000
(3) 45.000 (4) 60,000
Options:

61547513001, 1
E1547518002. 2
51547518003, 3
51547518004, 4

Question Number : 27 Question Id : 6154754616 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
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(1) 200% (2) 250%
(3) 300% (4) 350%
Options:

E1547518005. 1
51547518006, 2
61547518007, 3
61547518008, 4



Question Number : 28 Question Id : 6154754617 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

S8 FH T TR FAET TT5 T f9hi = A9 TG 6 20 ATTwa T

(1) =M (2) A
) T (4) = H T
Options:

51547518003, 1
61547518010, 2
61547518011, 2
E1547513801Z2. 4

Question Number : 29 Question Id : 6154754618 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

fohm = w Aege i1 ot 1 wiavm Fe e Fogz 1 g i g § sAtashag = un?

(1) 2003 (2) 2004
(3) 2005 (4) 2007
Options:

515475180121
61547518014, 2
61547518015 3
E154751801E6. 4

Question Number : 30 Question Id : 6154754619 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

36 YA /AT F FgeT F AW Fase, fyedh faf § =39 2001 ¥ 99 2007 F SO0 w69 TREZ wE R

(1) =] (2) THY
(3) SEW T (4) w=H U=
Options:

615475138017, 1
E1547518015. 2
E15475180143. 3
B1547518020. 4

Sub-Section Number: 3
Sub-Section Id: 615475206



Question Shuffling Allowed : Yes

Question Number : 31 Question Id : 6154754620 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

In computer related activities. which of the following 1s inappropriate for describing a
language translator?

(1) Assembler (2) Compiler
(3) Interpreter (4) Codec
Options:

51547518021, 1
E1547518022. 2
61547518022, 3
E1547518024. 4

Question Number : 31 Question Id : 6154754620 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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(1) e (2) FuTEed
(3) == (4) F=F
Options:

E1547518021. 1
B1547518022. 2
E1547518023. 3
61547515024, 4

Question Number : 32 Question Id : 6154754621 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Which of the following 1z most suitable for being designated as Fourth Generation Language
(4GL)?

(1) ALGOL (2) dJava
(3) C (4) SQL
Options:

E1547518025. 1
B1547518026. 2
G1547518027. 3
E15475180258. 4

Question Number : 32 Question Id : 6154754621 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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(3 = (4) ™
Options:

E1547518025. 1
B1547518026. 2
B1547518027. 3
E1547518028. 4

Question Number : 33 Question Id : 6154754622 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

Given below are two statements — one 15 labelled as Assertion (A) and other as Reason (R) :

Assertion (A) :  Smiffing may be used to steal data or information over a network.

Reasons (R) : Smiffing 1s a process of monitoring and capturing all data packets passing
through given network.

In the light of the above stated two statements, choose the correct option from the choices
given below :

(1) Both (A) and (R) are true and (R) 1s the correct explanation of (A)
(2) Both (A) and (R) are true and (R) 13 not the correct explanation of (A)
(3) (A) 13 true, but (R) 1s false
(4) (A) 1s false. but (R) 18 true
Options:
61547518029, 1
61547518030 2

61547518021, 3
615475138032, 4

Question Number : 33 Question Id : 6154754622 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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(1) (A =% (R) ZET T& 2 #17 (R). (A) i 781 == 2

(2)  (A) 2R (R)3FI T=1 &, 74 (R). (A) Fi °&t == 74 2
(3) (A =E 2, g (R) &=t 75 =

) (AT T, F R TR E

Options:

615475180239, 1
615475128020 2
15475128021, 2
61547518022 4

Question Number : 34 Question Id : 6154754623 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Which of the following terms is related to the digital learning environment for design?

(1) e-Vidwan
(2) e-Acharya
(3) e-Kalpa
(4) e-Yantra

Options:

61547518033, 1
61547518034, 2
61547518035 2
615475128036 4

Question Number : 34 Question Id : 6154754623 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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(1)  s-TagEm

(2) - AEHE
Fhe
o

(3) 3-%
4 -3
Options:

E1547518023. 1
E1547518024. 2
51547518035, 3
E1547518036. 4

Question Number : 35 Question Id : 6154754624 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

Which of the following tools 1s a collaboration tool for providing wirtual classroom

environment?
(1) A-Lab
(2) A—View
(3) A-Tutor

(4) A-Tearner

Options:

61547518037, 1
61547518038, 2
61547518039 2
1547512040 4

Question Number : 35 Question Id : 6154754624 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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(1) o=

@ T

3) TR

(4) T
Options:

E1547518027. 1



E1547518038. 2
51547518025, 3
51547518040, 4

Question Number : 36 Question Id : 6154754625 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

Methane. a greenhouse gas. 15 emitted from

(a) landfills

(b) construction debris
(c) wet lands

(d) e-waste

Choose the correct statements from the options given below :

(1) {a). (b) and (d) (2)  (a). (c) and (d)
(3) (a) and (c) only {4) (a)and (d) only
Options:

51547518041, 1
61547518042 2
615475138042, 3
E1547518044. 4

Question Number : 36 Question Id : 6154754625 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
Meq, TF W9 718 79, AeeEd 5§ R oty B R

(a) E-;.-:!-:F-'{*':g
(b)  TAui FH * Hed
(¢) =AY

i

(d) -3 IMETE

FefeEy 8 w8 ey =91

(1) (a). (b) =T (d) (2} (a). (c) 3 (d)
(3)  =ae (a) FE () (4) =Fae (a) @R (d)
Options:

615475138041, 1
E1547518042 2
E1547518043. 3
51547518044, 4

Question Number : 37 Question Id : 6154754626 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



The share of which of the following sources of energy in electricity generation in India at
present 1s the least?

(1) Thermal (2) Solar and Wind
(3) Hydro (4) Nuclear
Options:

61547518045, 1
61547518046, 2
E1547518047. 3
E1547518045. 4

Question Number : 37 Question Id : 6154754626 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

g 7 T seaeT # 999H # Fefatad 7 B At |m 0 e e 20
(1) == (2) =R #HT T
{3} [ - I: "~ (4} 5 ; :

Options:

51547518045, 1
61547518046, 2
E1547518047. 3
E1547518045. 4

Question Number : 38 Question Id : 6154754627 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Biosphere reserves are :

(1) area comprising terrestrial. marine and coastal ecosystems
(11) monitored by national governments
(1) areas where threatened amimals and plants are kept in their habitat

(tv)  wildlife sanctuaries

Choose the correct statements from the options given below :

(1) (1) and (11)
(2) (11) and (111)
(3) (i11) and (iv)
(4) (1) and (1v)

Options:
15475150459 1



E1547518050. 2
51547518051, 3
61547518052, 4

Question Number : 38 Question Id : 6154754627 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
9 Antaa & (SR o) #
(1) Y-, Al R a2adl arii-a= a3k
(1) U TR g i

=

(i) = TATH FEl THZ-TEF YIS Tl 1 39 TEEE | T A

(iv)  IHd A9gETg

FeAfefias foepel § 9 91 F9E oA
(1) (1) 31T (iD)
(2)  (il) ST (iii)
(3) (ii1) #1T (iv)
(4) (1) 3T Gv)
Options:
E154751520449 1
61547518050, 2

51547518051, =3
51547518052, 4

Question Number : 39 Question Id : 6154754628 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O



A green building

(1) uses minimum amount of energy
(11) generates waste

(i11) consumes a lot of water

(1v) conserves natural resources

(v) creates space for healthy hiving

Choose the correct statements from the options given below :

(1) (1). (11) and (111)
(2) (1). (iv) and (v)
(3) (11). (111) and (v)

(4) (). (iv) and (v)
Options:
15475180521
E1547518054. 2
£1547518055 2
61547518056 4

Question Number : 39 Question Id : 6154754628 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



TF TARY FFA 999 (7 fafee)
(1)  =aE Sl % ST A A
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fr=fafgn foweat 8 % 98 FuE =

(1) (). (i) 3R (i)
2) ([, () I (W)
(3) (i), (iii) W (v)

(4) (ii). (iv) T (v)

Options:

61547518053, 1
61547518054, 2
61547518055 2
1547512056 4

Question Number : 40 Question Id : 6154754629 Question Type: MCQ Option Shuffling: No Display Question Number :

Single Line Question Option : No Option Orientation : Vertical
Correct Marks: 2 WrongMarks: 0

National Disaster Management Authority 1s an agency of the Ministry of

(1) Jal Shakti (2) Home Affairs
(3) Earth Science (4) Housing and Urban Affairs

Y A9 TEeH e Fetatad § O B g i o v 27

(1) == 3 @ T=wE
(3)  gzdi fawm (4) oTE™ 3R wEd =
Options:

61547518057, 1
E1547518058. 2
E1547518053. 3
B15475180680. 4

Yes



Question Number : 40 Question Id : 6154754629 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
TP ATIET e e efatad 4 o e wees oo et 27

(1) = =1 2 T FE
(3) g e (4) EE AT TR T
Options:

E1547518057. 1
E1547518058. 2
51547518055, 3
61547518080, 4

Question Number : 41 Question Id : 6154754630 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

Identify the distinctive feature of traditional method of Indian education from the following
st :

(1) Direct perception of truth’ — both as means and end
(2) Making everything on "Trust’
(3) Evolving own way of learning

(4) Following Nyayva Philosophy with Deductive — Inductive Process

Options:

61547518061, 1
61547518062, 2
615475180632 2
15475120684, 4

Question Number : 41 Question Id : 6154754630 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
Frterfign g=h 9 9 awdE fen 1 araies sone % e @ = g i

(1) g T U9 Y e AN O =9 o

(2)  TEvEE F YR W HEaH AT

(3)  ATE = A9 FOF I EAHEE F

(4) TP - AR TR Ay = 39 5 SAgE

Options:

61547518061, 1
15475180682 2
61547518062 5
61547518064, 4



Question Number : 42 Question Id : 6154754631 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Which of the following provides the overarching vision that guides research into socially
relevant-areas?

(1) ARITA (2) IMPRINT
(3) NIRF (4) SWAYAM PRABHA
Options:

51547518065, 1
61547518066, 2
E1547518067. 3
615475138068, 4

Question Number : 42 Question Id : 6154754631 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

frafofas 4 @ #0 vF wAfdeas 2fe TEE WA 2 S A ¥ W UEeTE S § 9 H geEeE 2an
237
(1) T©RAEART (2) A uH O AW 7S A
(3) TH I AW TF (4) =T T
Options:

61547518085, 1
E154751806E. 2
E1547518067. 3
51547518068, 4

Question Number : 43 Question Id : 6154754632 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

In which of the following, ‘One Nation. One Standard’ 1s mentioned as the ‘'mantra’ to ensure
national standards and quality.

(1) National Policy on Education — 1968
(2) National Policy on Education — 1986
(3) National Policy for Skill Development and Entrepreneurship — 2015
(4) NITI Aayog — Three Year Action Agenda — 2017—18 to 20192020
Options:
61547518069, 1
61547518070 2
61547518071, =
61547518072 4

Question Number : 43 Question Id : 6154754632 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:
51547518069, 1
61547518070, 2
E1E47515071. 2
61547518072, 4

Question Number : 44 Question Id : 6154754633 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Non-traditional teaching and learnming strategies lay emphasis on

(1) Students’ need based resource materials and learning standards
(11) Developing skills, attitude and values

(imn) Promoting In-Box thinking process

(1v) Lecture based model

(v) Acquiring knowledge necessary to respond creatively

Select your answer from the following options :

(1) (1). (11) and (v) (2) (). (i11) and (1v)
(3) (111), (1v) and (v) (4 (). v) and (v)
Options:

61547518073, 1
61547518074, 2
E1547518075. 3
E1547518076. 4

Question Number : 44 Question Id : 6154754633 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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1) Q). (D) 7R @) (2) (i). (i) = (iv)

(3)  (iiD). (iv) T (v) @) @), (v) 377 (v)
Options:

E1547518073. 1
61547518074, 2
61547518075, 3
615475138076, 4

Question Number : 45 Question Id : 6154754634 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
Identify values specially related to organizational ethos from the list given below :

(1) Team work 1n the approach

(11) Productivity of the tasks

(1) Changes 1n the global contents

(iv)  Financial security

(V) Humility in dealing with others’ concerns

(vi)  Technological resources

Choose your answer from the following options :

(1) (1), (1) and (v1)
(2) (1), (1v) and (v)
(3) (11). (1) and (v)
(4) (1), (11) and (v)

Options:

61547518077, 1
61547518078, 2
615475180793 2
615475120280 4



Question Number : 45 Question Id : 6154754634 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

W= 21 = T= 4 F@ faem =9 9 weTeRs At (Suim) # metia e 1 Tmem Fifw

(1) 97 | Ag-a%

(i) = = IEqEEAT

(i)  ATew HvE-—am § =2

(iv)  fa=i= geem

(v)  =E A TEae & weE T T e
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Read the passage carefully and answer guestions from 46-50.

The pre-first world war era 1= really in a way well suited for an in-depth evaluation of
popular movements., as they were spontaneous and no more than. marginally affected
intelligentsia 1deologies. objectives or technigues. The limitations of such spontaneity are
fairly clear. Popular movements were directed usually against the immediate Indian
oppressor rather than the distant white superior. and so were often not consciously or
subjectively anti-imperialist. They tended to be fairly widely scattered in both space and
time, and were extremely volatile with different social forms of articulation interpenetrating
and passing over each other with bewildering ease. All this makes 1t rather difficult to accept
without some gualification the concept of Peasant Nationalism’™ as a coherent alternative to
elite patriotic 1declogies and movements, popular imtiative and autonomy were undoubted.
even remarkable at times. but. unlike middle class nationalism which does have certain
continuity. at the level of 1deoclogy at least, from the formulation of the drain of wealth theory
1n the 1870s onwards, the movement that have been considered were clearly fragmented. Yet
despite such limitations and crudities. popular unrest did anticipate much of middle class

nationalism in terms of 1ssues and forms of struggle. while its specific gains were at times

not inconsiderable. Forest rights. the burdens of rent. usury and land revenue. planter

exploitation and labour grievances were all themes taken over by middle class nationalizsm

later.
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What does the analysis of pre-first world war popular movements reveal?

(1) Intelligentsia’s influence on popular movement was less
(2) The movements were 1deological
(3) The movements had clear objectives

(4) Limited spontaneity
Options:
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The popular movements were

(1) against imperalists (2) against their masters
(3) consciously violent (4) time bound
Options:
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According to the passage. the 1ssue with peasant nationaliam was

(1) a viable alternative to elite nationalism
(2) coherence and control

(3) lack of continuity

(4) quite timely

Options:
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The pre-war popular movements were of

(1) uniform social form (2) 1nsignificant value
(3) middle class nationalism (4) specific gain at times
Options:

51547518083, 1
61547515034, 2
61547518035, 3
E154751803E6. 4
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What is the author’s assessment of the popular movements?

(1) Some of the popular 1ssues were taken over by middle class nationalism
(2) It was bewildering and amusing
(3) It was remarkable and time-tested
(4) Pre-war popular unrest was anti-imperialist
Options:
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Correct Marks: 2 WrongMarks: 0

TR Sle] 2 0T

(1) T =9 9 2T "= -::’
(2) 199 2 F= F 69 FH TS
(3)  HFHE 9 T2 ghE 9=

(4)  FFT-H A o Tewt

Options:

1547518177, 1
1547518178 2
61547518179, 5
61547518180 4

Question Number : 70 Question Id : 6154754660 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

AT TCS S 3] 2 30T J

(1) T =9 F 20T "= ;_’
(2) ¥R T HiS T o FE F
(3)  TFHE 9 =T gE 9z

(4) AT GIA o Tewdl

Options:

15475181771
1547518178 2
61547518179, 5
61547518180 4

Question Number : 71 Question Id : 6154754661 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

‘WA g Ee FEg s

(1)  FEvfi= (2) =@ =
(3) =4 9 Tawet = 4) THIAHA
Options:

E1547518181. 1
E1547518182. 2
61547518183, 3
61547515154, 4



Question Number : 71 Question Id : 6154754661 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

‘ot 7w FEg s E v

(1) FEri= (2) =&
(3) =4 5 Fawea = 4) THTHA
Options:

61547518181, 1
E1547518182. 2
E1547518183. 2
515475158184, 4

Question Number : 72 Question Id : 6154754662 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

‘S 2 3 e e

(1)  ==FAF (2) =FTEE
(3) AETTAF (4) faaomss
Options:

515475181851
61547518186, 2
61547518187, 3
615475151858, 4

Question Number : 72 Question Id : 6154754662 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

S 2 3 v ey

(1)  ==HeEF (2) =TCHE
(3) AIATTH (4) Taaronems
Options:

615475181851
E1547518186. 2
E1547518187. 3
51547518188, 4

Question Number : 73 Question Id : 6154754663 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



T T 9 TR 1S 3 T -T=

(1) FememEt (2) TET=E T
(3) T U 4y Shadu
Options:

515475181859, 1
615475158130, 2
61547515131, =
E15475181392. 4

Question Number : 73 Question Id : 6154754663 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

T T 9 TR 1S & TE T

(1) =EmeEE T (2) TET=E T
(3) T U 4 Shadu
Options:

515475181859, 1
615475158130, 2
61547515131, =
E15475181392. 4

Question Number : 74 Question Id : 6154754664 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
B el e e B W e e Bt e PO o e B M . I

(1) fread (2) =FAA
(3) oA (4) THLFE A
Options:

515475181921
61547515134, 2
61547515135, 3
E15475181396. 4

Question Number : 74 Question Id : 6154754664 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



i d ST AT T ATl 2§ Teel, ey Bl Ul s g v

(1) fmes = (2) =
(3) A (4) v sEEA A
Options:

6154751815921
615475151394, 2
615475158135 3
E15475181396. 4

Question Number : 75 Question Id : 6154754665 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

=faemE WE = gH-TR e HEEd AEE 3 wUEE N AEs |

(1) PLEIGH (2) 3O
(3) I (4) HEE
Options:

515475181971
6154751581398, 2
61547515199, 3
E1547518200. 4

Question Number : 75 Question Id : 6154754665 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

=fqem@ TE 1 99-T e EYd AEF 2 FUEE 1 ATEE 7

(1) PLEIG (2) 39y
(3) I (4) wEE
Options:

615475181397, 1
615475158138, 2
E1547518139%9. 3
E1547518200. 4

Question Number : 76 Question Id : 6154754666 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



‘R A HEE] 9E A

(1)  FaF=r 2 (2) s 2
(3)  roTEaEA o (4) FIIEE 2
Options:

61547518201, 1
E1547518202. 2
E1547518203. 3
51547518204, 4

Question Number : 76 Question Id : 6154754666 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

‘SR d 99 9 A -

(1)  =Fgan 3 (2) =S 2
(3) == R C I e
Options:

E1547518201. 1
61547518202 2
61547518203, 3
61547518204, 4

Question Number : 77 Question Id : 6154754667 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

S HifEe = Usel e e

(1) =9 79 99 (2) TN HTH
(3)  oH =1 99 (4) =FF @EE B
Options:

61547518205, 1
E1547518206. 2
615475138207, 3
E1547518208. 4

Question Number : 77 Question Id : 6154754667 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



EIRC Rt e e | e o e 1 i T

(1) =9 79 9d (2) TN HOH
(3) THamod (4) TFF T=E =N
Options:

£1547518205. 1
E1547518208. 2
E1547518207. 3
B1547518208. 4

Question Number : 78 Question Id : 6154754668 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

[l ;! N +
Tal=RTcHes o A5 U=heh] T :

(1) g (2) = T
(3) A (4) THET S 9 945 [TEw
Options:

61547518205, 1
61547518210, 2
61547518211, 3
E1547518212. 4

Question Number : 78 Question Id : 6154754668 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

[ 2 B + g
Tdl=hIcH= o OAMd39 Thiehl T

(1) % (2) = o
(3)  gmEA (4) W ES A TH fTEw
Options:

E1547518209. 1
B1547518210. 2
61547518211, 3
61547518212 4

Question Number : 79 Question Id : 6154754669 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



(1)  =3gaci A2 (2) e ATEF
(3) FETTE! TZF (4) e T e
Options:

E1547518213. 1
E1547518214. 2
51547518215 3
51547518216, 4

Question Number : 79 Question Id : 6154754669 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

T Tl a1 38T T

(1)  =F=2gaei A= (2) TER AEE
(3)  FHUATEl TEF (4) =wE T e
Options:

615475182121
61547518214, 2
61547518215 3
E1547518216. 4

Question Number : 80 Question Id : 6154754670 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

‘T ifeeT: oF e i I s g e

(1) ST FEMT 21 OF O O3 9

(2) = wEmE  3eva A e

(3) S Ferl: AEEaE 9 B
(4) ] L7 ,T[,_I al GALE =g Ty
Options:

61547518217, 1
61547518218, 2
61547518219, 3
61547518220, 4

Question Number : 80 Question Id : 6154754670 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



"SI HEeS: T TEEE T 9 Y 9 HE U

T ]

(1) ST F2E] 21 OF O 923 7R

(2)  =rE T 399a d T

(3) I FEHE: AFARE d 2
(4) T2 =i 7 HE: I Y
Options:

61547518217, 1
615475182158, 2
61547518219, 3
E1547518220. 4

Question Number : 81 Question Id : 6154754671 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

‘TR Afec 9 g1 =S wfi I B T EE T

(1) Ty St 31 g O
(2)  SOEI WA 9 -

(3) S TEA = 9

(4) TR TR 21 SOHT i

Options:

61547518221, 1
61547518222 2
61547518223 2
61547518224 4

Question Number : 81 Question Id : 6154754671 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

T EEA G T =S T G e A eE T

(1) TS TS 31 1= i
(2) =T e F -
(3) S THE 37 a

Options:
61547518221, 1
61547518222 2



BE1547518223. 3
B1547518224. 4

Question Number : 82 Question Id : 6154754672 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

TUTHATAl ITTH U

(1) e e (2) A
(3) RN 9 HER 1 2 39 (4) =% 7 gl
Options:

E1547518225. 1
E1547518226. 2
B1547518227. 3
BE1547518228. 4

Question Number : 82 Question Id : 6154754672 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

TUTHATAl ITTH U

(1) e e (2) A
(3) RN 9 HER 1 2 39 (4) =% 7 gl
Options:

615475182251
E1547518226. 2
E1547518227. 3
E1547518228. 4

Question Number : 83 Question Id : 6154754673 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

" =are g wiE S,

TR ST W9 9ten

(1) TmEEw (2) =Y
(3) H=HIET (4) TEmw
Options:

BE1547518229. 1
61547518220, 2
61547518221, 3



E1547518232. 4

Question Number : 83 Question Id : 6154754673 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

" =are g wfE S,

e ey |9 wen

(1) TmEEw (2) =HET
(3) wiEiu (4) "I
Options:

BE1547518229. 1
61547518220, 2
61547518221, 3
E154751823%2. 4

Question Number : 84 Question Id : 6154754674 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

i i ]
I=tishil ST 34l

(1) e R 97 2 wh 9w i e A iy
(3)  HEWE e fow wH =9 @) TS ERRE e
Options:

61547518232, 1
E1547518224. 2
E1547518235. 3
B1547518236. 4

Question Number : 84 Question Id : 6154754674 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

- R H
TR gl 31

(1) TErTa1 ER s 2 96 9 71 B e A
(3)  HEWrE W fGE 76 T A N T .
Options:

61547518233, 1
61547518234, 2
61547518235, 3
E1547518236. 4

Question Number : 85 Question Id : 6154754675 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Correct Marks: 2 WrongMarks: 0

(1) = #q 99 =g ¢ (2) o aifee & o faa
(3)  =w-HE & e (4) = FH & W 7
Options:

E1547518237. 1
61547518238, 2
E1547518239. 3
B1547518240. 4

Question Number : 85 Question Id : 6154754675 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

(1) = ¥7cq 99F =g U (2) o Aifees & o fam
@ - (4) = FH 3 TEEAT wE T
Options:

61547518237, 1
61547518238, 2
E1547518239. 3
E1547518240. 4

Question Number : 86 Question Id : 6154754676 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Il__Fﬁ ":H. :
(1) 2 uTeg SHE TAEATH a2 S T w0 A ST
(2) = g gEE Eg v

(3) 31 ImeEe] Hy=a A FE EE v

(4) T I 2 S A AY wE U

Options:

61547518241, 1
61547513242 2
61547518242 2
61547515244, 4

Question Number : 86 Question Id : 6154754676 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



(1) = 9TeT 35 T9EarE] w2 o WA ) g9 o

(2) = e g Figr U

(3) & ymeme Fe=a q Feft aE v

(4) FT I R S A Y =@ U

Options:

61547518241, 1
61547518242 2
61547513243 =2
61547518244 4

Question Number : 87 Question Id : 6154754677 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

HEATF g

(1)  *hews 2 THgH ™ AYTE U

(2) %Y < faga W AHTa U

(3) TeEmzfagam wumat

(4) S Ees 2 faga w sana v

Options:

61547518245, 1
61547518246, 2
61547518247 2
E15475138248. 4

Question Number : 87 Question Id : 6154754677 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

AT g

(1) eFs 2 foga @ A9Wa 1

(2) 42 fUgE W HEna u

(3) fr=sm = fugm w wama U

(4  Ffcam Ees 2 faga w sana v
Options:
51547518245, 1
51547518248, 2

61547515247, 3
E1547518248. 4



Question Number : 88 Question Id : 6154754678 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

fed SPHl 3= IR 2 SATaEE A

(1) ST T (2) =7 e

(3)  =ereE T (4) =3 Aom
Options:

515475182459 1
61547518250, 2
61547518251, 3
E1547518252. 4

Question Number : 88 Question Id : 6154754678 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

FHfed SPRI S0 TOSer T 3 A A

(1) g T (2) 91

(3) T T (4) =91 Tom
Options:

E15475182459. 1
B1547518250. 2
61547518251, 3
61547518252, 4

Question Number : 89 Question Id : 6154754679 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

“famw 31 e Far i = A gE A O

(1)  ==Fa (2) =T
(3) & (4) =
Options:

51547518253, 1
61547518254, 2
61547515255, 3
E1547518256. 4

Question Number : 89 Question Id : 6154754679 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



‘e =7 i e wied = S g W T

(1)  ==Fa (2) =Tt
(3 == (4) o=
Options:

61547518252, 1
E1547518254. 2
E1547518255. 3
61547518256, 4

Question Number : 90 Question Id : 6154754680 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

B = Tt

Ty g e Wt

(1) 3 9A99EF Za9= 7 (2) =i g7 =TEm g o
(3) TaEET (4) T 2015 = THEEE FE
Options:

E1547518257. 1
E1547518258. 2
51547518259, 3
61547518260, 4

Question Number : 90 Question Id : 6154754680 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

£ & - T Wi

o9 F AETE Uit

(1) 3 9995 F Fa9 7 (2) &1 7 | gt v
(3) Ta#iEd (4) 9 2015 9 THEE =
Options:

E1547518257. 1
51547518258, 2
61547518259, 3
E1547518260. 4

Question Number : 91 Question Id : 6154754681 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



- FIF'I" :

(a) W= Fh-93 FH0 TI WIS E9 U
(b)y T FATSE 3 W 9 WEE 9 U
(c) TN 27 TUH e U

(d)  ITIIF T = S AT 9T €9 U

2’2 =1 = fasew T4

(1) (a)d (b) 31F A (2) ()T () I
(3) (a)d (c)3F T 4) (b)d (d) F=® =
Options:

E1547518261. 1
B1547518262. 2
61547518263, 3
E1547515264. 4

Question Number : 91 Question Id : 6154754681 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
Correct Marks: 2 Wrong Marks: 0

a4 = _Fl” :

(a) YT Feh—Hg HWO T WIS E9 U

(b) T TS o W ° WEE E9 O

(c) TS 27 T Hg U

(dy  3TF @ = A SATEET 9EE #0 O

T2 o s fawed =4

(1) (a)d (b) FFF 4 (2) (M (c)3F A
(3) (a)d (c) 3% = 4) (b)d(d) 2w
Options:

E1547518261. 1
E1547518262. 2
BE1547518263. 3
61547518264, 4

Question Number : 92 Question Id : 6154754682 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



(@)  ATgFER Al 3 S U

(h) = =19 O ST T BT e
(c) T} ToreTerEl =7 ST Fd §l = A

(d) 9% 2y q?f%?'aﬁjzfﬁé-g? T

E‘Eﬂ'rﬁ'é'ﬁth_w'fl?jﬁ

(1) (a). (e) 7 (d) 31F = (2)  (b). ()T (d) F=F =
(3) (a) T (c) 31 4 (b (d)F=F =
Options:

61547518265, 1
E1547518266. 2
E1547518267. 3
E15475182658. 4

Question Number : 92 Question Id : 6154754682 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

(a)  ATgFE wEdl A 9

(b) = =TT O3 SRS HETA EE el
“::] Tﬁ r‘-;fl: T ?n'. _:I—D-ﬂﬁ‘ - E -I_F_PFE. ar:r _‘ﬂ ]r]-F'J: ._-|'

d) =TwEIamfRiTzEs AT

2’3 =1 w2 fawew =9

(1) (a). (c)d (d) 3F = (2)  (b). ()7 (d) F=F 7
(3) (a) @ (c) 31 = (4) M (d)IF A
Options:

61547518265, 1
61547515266, 2
E1547518267. 3
E1547518268. 4

Question Number : 93 Question Id : 6154754683 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



A= HH =

(a) 71 3 T9FE 5181 U

(b) GRS e G et e
(@ == I o3 H0 = @ 7
(d) TR TAF 2 HUE 3UR e § S 2 o w5 A

2’2 =1 == famew =4

(1) (). (&) (d) =1 F = (2) (a).(e)d (d) 3w
(3) (b) 9 (d) 3/ = (4) (a)d (c) 3= 7
Options:

E1547518269. 1
61547518270, 2
E1547518271. 3
B1547518272. 4

Question Number : 93 Question Id : 6154754683 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

T HAC H

(a) el #Td T9FE 5181 U

(b)  form s fompm % =i
(c) T2 AT 93 "0 9 9N BE U
(d) T TEF 2 SUE 39 e d St 2o fom we A

2’2 =91 = fawen =4

(1) (). (e) 4 (d) 3 F = (2)  (a). (e)d (d) F=F A
(3) (b) @ (d) 2/ = (4) (a)d (c) 3 7
Options:

E154751826%9. 1
E1547518270. 2
61547518271, 3
B1547518272. 4

Question Number : 94 Question Id : 6154754684 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



(a)  %H T 2 319 = sidier U
(b)  TEeT WY fEE-ET O
(c) T THa12 519 9 siAE O
(d)  zem Y fEw ET v

3’8 = e Tawed o4

(1) (a). (b) @ (c) 31F A (2) (b)) () d (d)FF A
(3) (b) & (c) 31 4) (a)d (d) F=F
Options:

615475182721
E1547518274. 2
BE1547518275. 3
B1547518276. 4

Question Number : 94 Question Id : 6154754684 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
(a)  FHh T 2 379 = sediEr U
(b) e S T v
(c)  ThHe T 2 AL = widigl O
(d)  ZemTmdE fFmET o

'3 = T e =4

(1) (a). (b)d (c) 31F 4 (2) (). (e)d (d)F=F 7
(3) (b)d (c)FF A @) (a9 (d)FF A
Options:

BE1547518273. 1
61547518274, 2
61547518275, 3
E1547518276. 4

Question Number : 95 Question Id : 6154754685 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



- ,, - 'F:‘ - = .' [ i -; E E" :
(a) o7 379 =914 BiET o
(b) == 3] ®=UET BlE U
(c) T AR A A U

(d)  FH®H AFA BTIEE FE U

33 91 T fawew 9

(1) (a). (b) A (d) 31=F = (2)  (a). (b)d (c) 3% =
(3) (b) @ (c) 3 = (4) (a)d (d) F= A
Options:

B1547518277. 1
61547518278, 2
G1547518279. 3
E1547518280. 4

Question Number : 95 Question Id : 6154754685 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
" .- - E". T .- i -; e ==
(a) T 3774 =9/ =iE o
(b) == ¥ EUEA EEI U
() T A FEE EET T

(d)  =® A B=UEA BE U

33 91 T fawew 4

(1) (a). (b) @ (d) 3= A (2)  (a). (b) T (c) I T
(3) (O (c)IFT 4) (a)d (d) 3w
Options:

B1547518277. 1
E1547518278. 2
BE1547518279. 3
61547518280, 4

Question Number : 96 Question Id : 6154754686 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



(a) @ WEEE A 1973 9 7em

(b) = Fea 121 7fiF |

() 7 H9 1975 W T Aifecd FHEH TEHR A
(d) 2 T=AER e wel ER A

2’2 = = fae T

(1) (a) ¥ () 3= 7 () (yd () F=F 3
(3) (e)d (d) 3= = (4) (a)d (d) F= F
Options:

E1547518281. 1
61547518282, 2
E1547518283. 3
B1547518284. 4

Question Number : 96 Question Id : 6154754686 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

I =hHE T 9iE

(a) =1 UEEE A9 1973 9 7Em

(b) = FeoA 121 A A

(c) 0 79 1975 9F 77 OTfeca FTFEHT TohE Hoien

(d) 2 AN R {ﬂﬂgﬂ T A

3’3 = =3 faew T4

(1) (a) 9 (c) 3= 7 (2) Md () 3F 3
(3) (e)d (d) 3= 7 4) (a)d (d) 3= 4
Options:

E1547518281. 1
E1547518282. 2
B1547518283. 3
61547518254, 4

Question Number : 97 Question Id : 6154754687 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



ey e

(a)  WEF-TEd wEA AE T

(b) = 9 T 9= = WEEEl FEl v
(¢) EZEHEERA

(d)  HI-"EH F= BE T,

|

2’2 =1 w2 fameT =4

(1) (a) 7 (d) 3= A (2) (a)d (c)3F A
(3)  (a)d (b)3=H A (4) (byd (d)Fw A
Options:

61547518285, 1
E1547518286. 2
B1547518287. 3
61547518288, 4

Question Number : 97 Question Id : 6154754687 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
Correct Marks: 2 Wrong Marks: O

e 1=y -

(a)  WEA-TEd FET FE U

(b) = W T 9N 3 WU 7Rl U

(¢) ZEHIERA

(d)  HI-UEH w= BE T,

3’2 =1 w3 famey =

(1) (a)d (d) 2% A (2) (a)d () 3F A
(3) (a) T (h) 3= = 4) Mda(@FIFA
Options:

51547518285, 1
61547518286, 2
E1547518287. 3
E1547518288. 4

Question Number : 98 Question Id : 6154754688 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Fa [ B BRE ™
Alecll FaMEH 3 FaHl T8 7

(a) TR Hie e, o=, FHe
(b) g o1 =, 11, gL d a1

=

(c) TS T, W A FerEn, e a1 o1

(d)  aar & e, g3 arm, o

32 = Tes faeq =4

(1) (a). (©)d (d)3rF A (2) (b, (c) o (d) IrF
(3) (e)d (d) 3w A @) (a3 () IFA
Options:

61547518289, 1
E1547518230. 2
E15475182391. 3
B1547518252. 4

Question Number : 98 Question Id : 6154754688 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

(a) TG Wi A, o=, e
(b) 9 31 =W, ST, WA AT
(¢)  THIeH TN, 9TH o FerEl, T o o

(d) T Ef e, gE arm, o

(1) (a). (c)d (d) 2rF = (2) (b). ()7 (d) F=F A
(3) (¢)d (d) 3 4) (a)d (d)F=F =
Options:

E1547518289. 1
61547518230, 2
61547518231, 3
E154751823%2. 4

Question Number : 99 Question Id : 6154754689 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



FeHI-HiE HiE T’ 9 T FEE A

[

(a) AT
(b) T I THEE
(c) T&®

(d) A R

'3 =1 =2 e =

(1) (a). (b) 4 (d) 3= = (2) (). () d (d) FF T
(3) (¢) @ (d) 31 = (4) (a)d (e)F=F A
Options:

615475182392, 1
E15475182394. 2
51547518235, 3
B1547518236. 4

Question Number : 99 Question Id : 6154754689 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

FEMHI-FE Wi T T e T A

[’

(a) HFTTETH]
(b) WU = THEE
() TmE

(d) A A AR

T2 =1 %% e =4

(1) (). mad) == (2)  (b). (c)d (d) FF 7
(3) (¢) 7 (d) 31 A 4y (a)d (c) 3w A
Options:

51547518253, 1
61547518234, 2
61547518235 3
E1547518236. 4

Question Number : 100 Question Id : 6154754690 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



; x.’r'J_QT.':&T‘ . f:f. .T-[;

(a)  TAW, ST A UG

(b) EEd E&
(c) a7t T 91 3ER
(d) FH

T'g =1 T faweT o4

(1) (a). (b)d (c) 3% 4 (2)  (a). (e)d (d) FF A
(3) (h). (¢) d (d) 3= A 4) (o) d (@) F=F A
Options:

E1547518237. 1
615475182358, 2
E154751823945. 3
51547518200, 4

Question Number : 100 Question Id ;: 6154754690 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
Correct Marks: 2 WrongMarks: 0

'Z|'|_r|'~-- 2 z 1]? _:,:I"-'- . = - ¥ q :

(@)  TAWE, ST A THNY

(by =
(c) 72T Tl 21 FER
(d) =H

T'g =1 W ey =4

(1) (2. )T (e)IF=7 (2) (a). ()d (d)3FF A
(3) (b e)d )3 4) (o)d (d)FT= A
Options:

E1547518297. 1
E15475182398. 2
615475182545, 3
61547518200, 4

Question Number : 101 Question Id : 6154754691 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



HeTEEE I
(a) 2T Hepl I 5F SidETES g U
(b) T IUE 2 AM-HTS 2§ HeElhS 29 B2 A

(c) T T 7% FaEl § SHad 31 I @ v T

(d) R EIEET thilcﬂ'ir.] ﬁ.

'3 =1 =3 fasen 9

(1) (a). (b) @ (c) 3% 4 (2) (a). (b)d (d) = A
(3) (a)d (c) 3=k = 4) (c)d (d)3F A
Options:

E1547518201. 1
61547518202, 2
61547518203, 3
E1547515204. 4

Question Number : 101 Question Id : 6154754691 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

RIS 3T
(a) = sl 9 5 SiETEE 9 T

(b) I ITW 3 AM-FE 3 TEES 9H FS A
() T 3% 3Tg HidAAl g Sfa- 21 T &l 791 ¥
(d) = YT WEEEE O

T2 =1 =t fawew =4

(1) (a). (b) @ (c) 31 4 (2)  (a). )4 (d)FF T
(3) (a)d (c) 3k = 4) (o)d (d)3F =
Options:

E1547518201. 1
E1547518202. 2
E1547518203. 3
51547518204, 4

Question Number : 102 Question 1d : 6154754692 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



M AR B S 3T

(a) é'ﬁﬁﬁﬁ?ﬁ{éﬁﬁ:{
(b) 31 FUTF GIRAE U
(d) = T U EEA A e A

sk}

2’2 =1 T2g famew T4

(1) (a). ()T (c) 31F A (2) (b). (c)d (d) 3= =
(3) (¢) T (d) 3% A 4) M (c)IF T
Options:

51547518205, 1
61547518206, 2
61547518307, 3
61547515308, 4

Question Number : 102 Question Id : 6154754692 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

T AT G S 30

(a) B ©EE T 2 A

(b) 31 FHUTF HRAE U

(c) = Iedl d TS -TRIST AT 2 TS UEEE w1 U
(d) 2 UH@ U HiEAl 9 w5 Eae A

sk}

T2 = T TR =4

(1) (a). ()T (c) 31F 7 (2) (b). (c)d (d) 3= =
(3) (¢)d (d) 3% A 4y M (c)I=FE A
Options:

51547518205, 1
61547518206, 2
61547518207, 3
61547515308, 4

Question Number : 103 Question Id : 6154754693 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



=4 famr 1T = fEg A

(a) ol e, s | g d S fi o

(b)  =d # 9, GUSE IS 9 g
(c) Frel 2 T, TRl 2-UiE 7w S
(d) T4 & 9w, FEEdi-a= 9 o SuE

3’2 = s Ty =4

(1) (a). (b) @ (c) 31F 4 (2)  (b). (c)d (d) 3= =
(3) (a)d (d) 3= A (4) (a)d (b) 3=F A
Options:

E1547518209. 1
61547518210, 2
61547518211, 2
E154751831Z2. 4

Question Number : 103 Question Id : 6154754693 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
= TEE e = ey T

(@) @ e, e A s | o e

(b) = & ", gse e d el
(¢)  wrefl 2 T, gl F-1d 4 39 Jma
(d) T F O, Taed-ue | we A

3’2 = = Ty =4

(1) (a). (b) (c) 3 F A (2)  (b). ()7 (d) FF =
(3) (a)d (3= 4) (a)d (b) 3=
Options:

E1547518209. 1
E1547518210. 2
51547518211, 2
61547518212 4

Question Number : 104 Question 1d : 6154754694 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



TR TE 9 T AR Hed TUE T
(a)  FE-=M, R {9 g=h o
(b) ==, = HEA § =5E W
(c) fird, S-w== § =51

(d)  =uA, I gl 2 d fo-fag =4

3’2 =1 T faweT =4

(1) (a). (e)d (d) 3% 3 (2)  (b). (c)d (d) 3 7
(3) (a) T (b) 3w = (4) (e)d (d) F=w =
Options:

E1547518213. 1
61547518214, 2
61547518215 3
61547518216, 4

Question Number : 104 Question Id : 6154754694 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
=gl T = G e s rﬁc-:l e od A B
(a)  TE-TAH, UF T 9 9= wEe
(b) T, T A 9 " A
(c) 7d, TH-5T4 | ="

(d) WA, T e 3 A Be-fw =h

2’2 = s faew T

(1)  (a).@d (d)F=H (2)  (b). (c)d (d) 3 =
(3) (a)d (b) #1F 7 (4) ()d (d)FF
Options:

E1547518213. 1
E1547518214. 2
51547518215 3
51547518216, 4

Question Number : 105 Question 1d : 6154754695 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



(b) 2 3 wEF forEEr v
()  TEYA =afH Y A9 At feraey o
(d) = aeuge foaror =9 =ne

2’2 =1 == famew =4

(1) (a)d (b) 3% 7 (2) )T (c)3F A
(3)  (a). (b)d (c) 3 A (4) (a). ()T (d) 3k
Options:

61547518217, 1
61547518318, 2
E15475182149. 3
E1547518220. 4

Question Number : 105 Question Id : 6154754695 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

o [l

AAT

(b) IS FIN @S forEer U

(c)  HISYA =% A9 A =it forma v
(d) = Fege e v =R

33 = T e T

(1) (a)d (b) 3= = (2)  (b)d (c) 3= A
(3) (a). (b) d (c) 3= 7 (4d) (a). ['b};rr (d) 2Tk 7
Options:

61547518317, 1
E15475182158. 2
E1547518219. 2
B1547518220. 4

Question Number : 106 Question Id ;: 6154754696 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



‘¥ T~ A

(a) @ og® = U A

(by = HAHFARE 3 HEEA A T
(¢) 2006 & T =T T

(d) = oiEs OiEd e A

‘3 S e e i
T g dJ 5 dEHeY "'\_]H ;

(1) (a)d (b) 31 = (2) (a)d (e) 3= =
(3) (a). (b) & (c) 3 7 (4) (a). () A (d) 3w 7
Options:

61547518321, 1
61547518322 2
E1547518323. 3
E1547518224. 4

Question Number : 106 Question Id : 6154754696 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
Correct Marks: 2 WrongMarks: 0

‘HES wEEE - A2

(a) CoEFHEAEEA

(b) T AaFATE & TEE AHd U

(c) 2006 T = TUA

(d) = ogs °iEd e A

-3: 0 -
T 5 = &3 TaHRed 1;1_:| :

(1) (a)d (b) 1% 7 (2) (a)d (o) 3= A
(3) (a). (b) d (c) 3/ = (4) (a). (b)d (d) F= A
Options:

61547518321, 1
E1547518322. 2
E1547518223. 3
615475182324, 4

Question Number : 107 Question Id ;: 6154754697 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



(@) T e & e A
(bh) TEsmzze

(¢)  TI. HEA oA THI EET U
(d) =T = gwEE o

|

2’2 =1 w2 fameT =4

(1) (a)d (e 3FF= (2) ()4 (d)3FF 7
(3) (a). (b)d (c) 31 4) (a). (b)d (d)F=® 7
Options:

515475182251
61547518326, 2
E1547518327. 3
61547518328, 4

Question Number : 107 Question Id : 6154754697 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
Correct Marks: 2 Wrong Marks: 0

" FEH] Fl'l";-:' o= - T ENE

(a) =% =thgd 5 e wEr U
(b) TEgmizEzT
(d) =TT = TEEE

by )

T3 =1 T faweT o4

(1) (a)d (c) 3 A (2) (e)d (d)FF A
(3) (a). (b)d (c) 31 4) (a). (b)d (d)F=* 7
Options:

E15475182325. 1
B1547518326. 2
B1547518327. 3
61547518328, 4

Question Number : 108 Question Id : 6154754698 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



3Te TﬂTEF&:r.mmq .

(a)  wiEHl @E e T Fe

(b) = =1 = 2 faas T e e e
(c) 2 TgF G 7

(d) T fmEmsgnETn

52 =1 = fashen o

(1) (b). (e)d (d) 2= = (2)  (a). (b) T (c) 3 7
(3) (a). (b) @ (d) 3=+ = 4y (e)d (d) 3= T
Options:

615475183291
61547518330, 2
E1547518221. 3
E1547518232. 4

Question Number : 108 Question Id : 6154754698 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
IR A HHaATES
(a)  wiEHt T T Y A
(b) = = AR 3 g 0o el
(c) = s oLl 7
(d) FH fEEmsEET

'3 =1 = fashen o

() ()@ (D)= (2)  (a). (b) T (c)3F 7
(3) (a). (b) @ (d) I = @) (7 (d)FF 7
Options:

61547518329, 1
E1547518230. 2
E1547518221. 2
61547518232, 4

Question Number : 109 Question Id : 6154754699 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



(a) T2
(b)  WEzETER
(c) ST

(d)  =Af9Ea T

2’2 =91 w3 fapey =4

(1) (a). (b). (c) FTF 7 (2) (b). (c). () = 7
(3) (a)d (b) 3% 7 (4) (a)d (c)3=F 7
Options:

61547518332 1
615475158334, 2
E1547518235. 3
E1547518236. 4

Question Number : 109 Question Id : 6154754699 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
(a) HHEZ
(b) HZIedloeld
(c) T

(d)  =Af9E T

2’2 =7 w2 fawey ﬁFﬂ :

(1) (a). (b). (c) 3 7 (2)  (b). (). (d) B A
(3) (a) T (b) 3/ A (4) (a)d (c) F=F A
Options:

615475183352, 1
E1547518224. 2
E1547518235. 2
51547518236, 4

Question Number : 110 Question Id : 6154754700 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



= L R E S

(a) 1 3eafa 9TR TH FE 9= TE U
(b) = I AE TAl
(c)  Tasfoa =0 weam &l 21 21T 9= 59 U

(d)  Tasfa f = ooft =1 srr 5= ST U

?ETHTFééfﬁﬁFﬁﬁfﬁ:
(1) (b). (e) 7 (d) 3% (2)  (a). (b)d (d) 3% 3
(3) (a). (b) d (c) 21 = (4) (o)d (d)F=F 3

Options:

61547518337, 1
61547518338 2
61547518229 2
1547512240 4

Question Number : 110 Question Id : 6154754700 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

A TH

(a) = 3Ieaf IPTR T9 el T 61 U
(b) = IHF A wE
()  Tasfoa =i weay 2ol 21 21T 9= 59 U

(d)  Tasfoa o = oaoft =1 srr =3 ST U

2’2 = w5 fapew =4
(1) (b). (c)d (d) 3 3 (2) (a). (b)d (d) 3 =
(3) (a). (b) @ (c) 2% = (4) (o)d (d)F=F A

Options:

61547518237, 1
61547518338 2
61547518239 2
1547513240 4

Question Number : 111 Question 1d : 6154754701 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



AT —TT4T -

(a) o1 T=d A EE U

(b) =1 FUHF @ 7IET U
() & IUZInens i =l U

(d) = e 9 EE T

) e -
T a4 =l 53 Tdshey ";J:I ;

(1) (a), (b) A (d) 3= A (2) (a). (c)d (d) FrF 1
3) (d.(@d(dIFA 4) M (c)FF 7
Options:

51547518241, 1
615475158342 2
61547515342, 3
E1547518244. 4

Question Number : 111 Question Id : 6154754701 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
GIERIC I
(a) 31 T=EE1 AFE BT U
(b) =T FUHF @ BIET U
(€ = I9EmeHF Ugh wiEl ¢

(d) = kw9 EE T

it Ju ol 2
2’3 = =2 ey T4

(1) (a), (b) A (d) 3= A (2) (a). (c)d (d) FrF 1
3) (d.(@d(dIFA 4) M (c)FF 7
Options:

51547518241, 1
615475158342 2
61547515342, 3
E1547518244. 4

Question Number : 112 Question Id : 6154754702 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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(a) WS HEAT A AT EE U

(b)  Segwar &1 FHl BEI Y

(¢)  TaTE F IeAiTHehar a1 = 2 o
(dy  =Aveierdr &1 #0176 U

33 o T fawed =4

(1) (a)d (b) 3= 7 (2) (b)Yd (c)3F A
(3) (a) 9 (d) 3= (4) (o)d (d)F=* 7
Options:

E1547518245. 1
B1547518246. 2
B1547518247. 3
61547515348, 4

Question Number : 112 Question Id : 6154754702 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
Correct Marks: 2 Wrong Marks: O

HAF-Fcd 7

(a) TS HIEAT A qEAT AT

(b)  ZegeRal 21 I wE U

(c)  TImTE A HEATRFAT &1 FHI BA U

(d)  sAgefierar &1 FH =61 U

™3

T3 =1 T Aoy =

(1) (a) T (b) 31 7 (2)  (b)d () FF A
(3) (a) @ (d) 3% 7 4) (o) (d)F=F T
Options:

£1547518345. 1
E154751834E. 2
E1547518247. 3
E15475158248. 4

Question Number : 113 Question Id : 6154754703 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



Y 4, ) I= (&) -a,.. :

(a)  Ho oE® T o A
(by  HITEH TEE 34 T |
(©) HAWMIREY

td} _l":l ,_.[a ;4"'1 El r.‘_‘| m el

T3 =1 TS a7 94

(1)  (a). ()@ (d) 3= = (2)  (a). (b)d (c) 3k A
(3) (b)d (c) 3% 7 4) (o)d (d)3=F 7
Options:

615475183491
61547518350, 2
E1547518251. 3
E1547518252. 4

Question Number : 113 Question Id : 6154754703 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

(a)  He oE® T o A
(b) AT TEE 29 T A
(©) HAWENIRAY

':d:l F 1_.[a ;4":1| El-. 5] m el

'3 =1 TE fa%heT I

(1) (a). )9 (d) 3rF 4 ()  (a), ) (c)3F A
(3) (b) T () 3 7 4) (c)d (d) I =
Options:

615475158349 1
E1547518250. 2
E1547518251. 2
51547518352, 4

Question Number : 114 Question Id ;: 6154754704 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



T 39T

(a) 2 FAFAEE T o T |
(b) 2 g THEF Ay I A
(0 TTHEEA ST 20181T

(d) TTFEEEATT 2017 T

-y N . -,
g E, =] o5 e "_'1_"_“ 2

(1) (a). (b) T (d) 3% A (2) (a). (b)d (c) 3 =
(3) (b)d (d) 3% (4) (a)d (d)FF A
Options:

615475183521
61547515354, 2
E1547518355. 3
E1547518256. 4

Question Number : 114 Question Id : 6154754704 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
Correct Marks: 2 Wrong Marks: 0

Ty 3T

(a) 2 AgaTEH T SO e |

(b) & U oiEE gAY i A

(c) = wwEE FT 2018 T

(d) TUFEESTT 2017 T

. - . =
E "_Jur, = 5% Tdhe "_'1_"_" :

(1) (a), (b) @ (d) 3% A (2) (a). (b)d (c) 3= A
(3) (b)d (d) 3% A (4) (a)d (d)FF A
Options:

61547518552, 1
E1547518254. 2
E1547518255. 3
51547518356, 4

Question Number : 115 Question Id ;: 6154754705 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



I 7 T TS Fw

(a) ‘Hd HE | IHA U

by IH TwmeE T

(¢) =Tt o o e 9 9 He
(d)  IFFEE FO Im A

'3 =1 = e =4

(1) (a)d (d) 3= A () by (d)IF A
(3) (¢) @ (d) 3% 7 4) Tk (@) F=Fu
Options:

E1547518357. 1
E1547518258. 2
51547518259, 3
51547518260, 4

Question Number : 115 Question 1d : 6154754705 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

"I 31 S 2Tl FA
(a) ‘Hd TR A wEA U

(b) ‘I 9 IEE U
(c) A F A FA TH = WHA T
(d)  =TFE® FO T A

T2 o T3 fawey ﬁfﬂ :

(1) (a)d (d) 3k = (2)  (b)a (d) F=F
(3) (¢)d (d) 3 = 4) ToF(d)F=u
Options:

51547518357, 1
61547518358, 2
61547518359, 3
E1547518260. 4

Question Number : 116 Question Id : 6154754706 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



- - o r O | . e [ e e T i T T o =,
Tedt =9t = o=t 29 ufafres 71 =2 =41 = o= 59 wiafves = == foom =0

=41-1 =41-11
(a) (1) TEm T
() = (i)  FTETS I
¢ = (i) == o9 HYl
(dy = (iv) TEmE 390

32 91 W= fawen =

(1) (a)-(11). (b)-(1v). (c)-(111). (d)-(1)
(2) (a)-(1). (b)-(111). ()-(1v), (d)-(11)
(3) (a)-(11). (b)-(1). (c)-(111), (d)-(1v)
(4) (a)-(11). (b)-(1v). (c)-(1). (d)-(111)

Options:

15475183261, 1
1547518262 2
61547518262 5
61547518264, 4

Question Number : 116 Question Id : 6154754706 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

U=el =91 = T2 29 ufatved 71 2% =99 9 B 2 vEhed w4 s meE w10

=51-1 =ai-11
(a) & 1) TEm 9
(b) = (i) FTE FFEEE
¢ = (1il) =T E9 HEit
(d) = (iv) SEmE SHAequ

2’3 =1 T faweT 94

(1) (a)-(11). (b)-(1v). (e)-(111). (d)-(1)
(2) (a)-(1). (b)-(111). (c)-(av), (d)-(11)
(3) (a)-(11). (b)-(1). (e)-(111). (d)-(1v)
(4) (a)-(11). (b)-(1v). (c)-(1). (d)-(111)

Options:
6154751585611

E1547518362. 2
E1547518263. 2
51547518264, 4



Question Number : 117 Question Id : 6154754707 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

=31-1 =ar-11
(@) F (1) 3=, 55 9=
(b)y =HZ (1) S, FEI=
(¢) =4 (111) HEFALE, FHha=
(dy wH=HA (1v) FTHTE, $Ha=

378 =1 T foeT =4

(1) (a)-(1), (b)-(11). (c)-(1m). (d)-(1v)
(2) (a)-(1v). (b)-(m1). (c)-(11). (d)-(1)
(3) (a)-(1). (b)-(11). (c)-(1v). (d)-(111)
(4) (a)-(1). (b)-(1v). (c)-(1m1). (d)-(11)

Options:

61547518365, 1
61547518366 2
61547518267, 5
61547518268, 4

Question Number : 117 Question Id : 6154754707 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

=dt-1 =31-11
(a) T (1) 3=, 5 991
() =T (1) 3T, FEaad
() +H (1) HEFEEE, THha=
(dy =H=A (1v) FTHTE, THa=

2’2 =7 T ey =4

(1) (a)-(1), (b)-(11). (c)-(1m). (d)-(1v)
(2) (a)-(1v). (b)-(11). (c)-(1). (d)-(1)
(3) (a)-(1). (b)-(11). (e)-(1v). (d)-(1m1)
(4) (a)-(1). (b)-(1v). (c)-(1m1). (d)-(11)

Options:

61547518365, 1
61547518366 2
1547518267, 2
61547515268, 4



Question Number : 118 Question Id : 6154754708 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

teett =t = fait o wfafred =1 =2 =4 = fo=ft 7o ofafved = =2 oo =0

=a1-1 =a1-11
(a) =% (1) ==
(b) 72 WA (i) TFHE-TH
() HHTHI (i) Tz =1 =
(d) | = A e (iv) =5 Tm

22 = = e =

(1) (a)-(111). (h)-(1v). (€)-(1). (d)-(11)
(2) (a)-(11). (b)-(111), (c)-(1). (d)-(1v)
(3) (a)-(11). (b)-(1). (c)-(111). (d)-(1v)
(4) (a)-(1). (b)-(11). (c)-(111). (d)-(1v)

Options:

61547518269, 1
61547518370 2
61547518371, 2
15475183272 4

Question Number : 118 Question Id : 6154754708 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



it <) = Farht T fafed 41 of w0 fael o v e w v

T4i-1 =41-11
(a) =% (1) ==
(b) @ WA (i) TFHE-TH
(c) TAHTE (i) Tz =1 =
(d) = el St e (iv) =5 Tm

2’2 31 w22 Ay ?Fﬁ:

(1) (a)-(u11). (b)-(1v). (c)-(1). (d)-(11)
(2) (a)-(11). (b)-(111), (¢)-(1). (d)-(1v)
(3) (a)-(11). (b)-(1). (c)-(111). (d)-(1v)
(4) (a)-(1). (b)-(11). (c)-(111). (d)-(1v)

Options:

61547518269, 1
61547518370 2
61547518371, 2
15475183272 4

Question Number : 119 Question Id : 6154754709 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



et =e 9 foft o7 vfafved o = = = foft 7o vfafved == =3 oo =0

Fdi-1 Fgi-11
(a) FFH (1) ST
(b) &t T T (i) TaEmH FHE
(c) =md (ii1) THTRTAF
(d) et T (iv) el &1 am

(1) (a)-(111). (b)-(1). (e)-(11). (d)-(1v)
(2) (a)-(11). (b)-(111). (c)-(1). (d)-(1v)
(3) (a)-(111). (b)-(1v). (e)-(11). (d)-(1)

(4) (a)-(1v). (b)-(11). (e)-(111). (d)-(1)

Options:

£1547Y518573 1
61547518274 2
61547518375 2
61547518376, 4

Question Number : 119 Question 1d : 6154754709 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O



et =e 9 foft o7 vfafved o = = = foft 7o vfafved == =3 oo =0

Fdi-1 Fgi-11
(a) FFH (1) ST
(b) &t T T (i) TaEmH FHE
(c) =md (ii1) THTRTAF
(d) et T (iv) el &1 am

(1) (a)-(111). (b)-(1). (e)-(11). (d)-(1v)
(2) (a)-(11). (b)-(111). (c)-(1). (d)-(1v)
(3) (a)-(111). (b)-(1v). (e)-(11). (d)-(1)

(4) (a)-(1v). (b)-(11). (e)-(111). (d)-(1)

Options:

£1547Y518573 1
61547518274 2
61547518375 2
61547518376, 4

Question Number : 120 Question 1d : 6154754710 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O



=F8-1 =i-11
(a) S HH-TFI T=d (1) @feea sTFeHl gEFr 1972
(b) T T, TS ATE (i) HEfEeT FHH TR 1978
(c) oo T I (i) HEfEed FAHH TR 1979
(dy =T % (iv) ®ETfEeT FAHEH TEpr 1997

ESEETE’-.'_’;' EETZ ?‘_l,:ﬁ :

(1) (a)-(1v). (b)-(111). (c)-(11). (d)-(1)
(2) (a)-(11). (b)-(111). (c)-(1). (d)-(1v)
(3) (a)-(1v). (h)-(11). (e)-(1). (d)-(111)

(4) (a)-(111). (b)-(1v). (e)-(11). (d)-(1)

Options:

61547518377, 1
61547518378 2
61547518279, 2
15475138280 4

Question Number : 120 Question Id : 6154754710 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



=F8-1 =i-11
(a) S HH-TFI T=d (1) @feea sTFeHl gEFr 1972
(b) T T, TS ATE (i) HEfEeT FHH TR 1978
(c) oo T I (i) HEfEed FAHH TR 1979
(dy =T % (iv) ®ETfEeT FAHEH TEpr 1997

ESEETE’-.'_’;' EETZ ?‘_l,:ﬁ :

(1) (a)-(1v). (b)-(111). (c)-(11). (d)-(1)
(2) (a)-(11). (b)-(111). (c)-(1). (d)-(1v)
(3) (a)-(1v). (h)-(11). (e)-(1). (d)-(111)

(4) (a)-(111). (b)-(1v). (e)-(11). (d)-(1)

Options:

61547518377, 1
61547518378 2
61547518279, 2
15475138280 4

Question Number : 121 Question Id : 6154754711 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



- -

ol s - y N 4 - . r T i, - ., - X r s -
TEet T4 9 ot 57 uiaivea 37 52 =99 9 T =9 vt = =3 om0

=4-1 Fai-11
(a) TEH (1)  #ATHEF
(b) =g (i) A=
(c) TETE! TE (i11) T
(d) stz (iv) =4

23 =7 =% foem 7 -

(1) (a)-(11). (b)-(1). (e)-(1v). (d)-(111)
(2) (a)-(1v). (b)-(111). (e)-(11). (d)-(1)
(3) (a)-(1v). (b)-(111). (e)-(1). (d)-(11)

(4) (a)-(1). (b)-(111). (¢)-(11), (d)-(1v)
Options:
61547513381 1
E1547518382. 2
E154¥5183835. 3
61547515354 4

Question Number : 121 Question Id ;: 6154754711 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



- -

ol s - y N 4 - . r T i, - ., - X r s -
TEet T4 9 ot 57 uiaivea 37 52 =99 9 T =9 vt = =3 om0

=4-1 Fai-11
(a) TEH (1)  #ATHEF
(b) =g (i) A=
(c) TETE! TE (i11) T
(d) stz (iv) =4

23 =7 =% foem 7 -

(1) (a)-(11). (b)-(1). (e)-(1v). (d)-(111)
(2) (a)-(1v). (b)-(111). (e)-(11). (d)-(1)
(3) (a)-(1v). (b)-(111). (e)-(1). (d)-(11)

(4) (a)-(1). (b)-(111). (¢)-(11), (d)-(1v)
Options:
61547513381 1
E1547518382. 2
E154¥5183835. 3
61547515354 4

Question Number : 122 Question Id : 6154754712 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



=4l-1 =4i-11
(a) T2 31 T WIS B U (1) =N 9= =0 =3
(b) HHTEF ST AEF U (i) Tm sEeTe 2 U
(c) HFA—9IIR=AH T 3797d T2 U (i) =S
(d) IF=ifsmaeFaaiEe (iv) =

2’2 = w5 faeq T

(1) (a)-(1v). (b)-(11). (e)-(1). (d)-(111)
(2) (a)-(1). (b)-(11). (c)-(111). (d)-(1v)
(3) (a)-(11). (b)-(1). (c)-(1v). (d)-(11)
(4) (a)-(111). (b)-(1). (c)-(11). (d)-(1v)

Options:

61547518385, 1
1547518286 2
61547518287, 5
61547518288, 4

Question Number : 122 Question Id : 6154754712 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



=4l-1 =4i-11
(a) T2 31 T WIS B U (1) =N 9= =0 =3
(b) HHTEF ST AEF U (i) Tm sEeTe 2 U
(c) HFA—9IIR=AH T 3797d T2 U (i) =S
(d) IF=ifsmaeFaaiEe (iv) =

2’2 = w5 faeq T

(1) (a)-(1v). (b)-(11). (e)-(1). (d)-(111)
(2) (a)-(1). (b)-(11). (c)-(111). (d)-(1v)
(3) (a)-(11). (b)-(1). (c)-(1v). (d)-(11)
(4) (a)-(111). (b)-(1). (c)-(11). (d)-(1v)

Options:

61547518385, 1
1547518286 2
61547518287, 5
61547518288, 4

Question Number : 123 Question Id : 6154754713 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



=al-1 =ai-11
(a) TawersEmET - *._rr 2 (1) S ATy
(b) FUTHATE (i) wEs
(c) TR (iii) =
(d) FgFEFaETR (Iv) PR

2’2 = w5 faeq T

(1) (a)-(1v). (b)-(111). (c)-(11). (d)-(1)
(2) (a)-(111). (b)-(1v). (c)-(1). (d)-(11)
(3) (a)-(111). (b)-(1v). (e)-(11). (d)-(1)
(4) (a)-(1). (b)-(111). (e)-(11). (d)-(1v)

Options:

61547518289, 1
61547518290 2
15475138291, 2
61547518292, 4

Question Number : 123 Question Id : 6154754713 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



=al-1 =ai-11
(a) TawersEmET - *._rr 2 (1) S ATy
(b) FUTHATE (i) wEs
(c) TR (iii) =
(d) FgFEFaETR (Iv) PR

2’2 = w5 faeq T

(1) (a)-(1v). (b)-(111). (c)-(11). (d)-(1)
(2) (a)-(111). (b)-(1v). (c)-(1). (d)-(11)
(3) (a)-(111). (b)-(1v). (e)-(11). (d)-(1)
(4) (a)-(1). (b)-(111). (e)-(11). (d)-(1v)

Options:

61547518289, 1
61547518290 2
15475138291, 2
61547518292, 4

Question Number : 124 Question Id : 6154754714 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



=a1-1 F41-11
(a) HE EEA-1975 (1) ST A 3 SATTE AT
(b) @@ AMEA-1976 (i) SPH = T 21 ST e
(¢) Rl AEa-1978 (iil) SPH AF-Hiaeg fEem 33
(d) = Afea-1979 (iv) SPH =ER-T e

'y

3’2 =1 T ferped =4
(1) (a)-(111). (b)-(11). (c)-(1). (d)-(1v)
(2) (a)-(1v). (b)-(111). (e)-(1). (d)-(11)
(3) (a)-(1v). (b)-(1). (c)-(111). (d)-(11)
(4) (a)-(1). (b)-(11). (c)-(111). (d)-(1v)

Options:

1547518393 1

51547518394, 2

£15475183395. 3
5154751823396, 4

Question Number : 124 Question Id ;: 6154754714 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



=a1-1 F41-11
(a) HE EEA-1975 (1) ST A 3 SATTE AT
(b) @@ AMEA-1976 (i) SPH = T 21 ST e
(¢) Rl AEa-1978 (iil) SPH AF-Hiaeg fEem 33
(d) = Afea-1979 (iv) SPH =ER-T e

'y

3’2 =1 T ferped =4
(1) (a)-(111). (b)-(11). (c)-(1). (d)-(1v)
(2) (a)-(1v). (b)-(111). (e)-(1). (d)-(11)
(3) (a)-(1v). (b)-(1). (c)-(111). (d)-(11)
(4) (a)-(1). (b)-(11). (c)-(111). (d)-(1v)

Options:

1547518393 1

51547518394, 2

£15475183395. 3
5154751823396, 4

Question Number : 125 Question Id ;: 6154754715 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



Taetl =at = faefi 729 wiafved o1 ¢ =21 9 Tt 22 wiafved = =3 oo =0

=ai-1 a-11
(a) =T TS (i) =fFm
(by  Hfe FfEEfen (i) Toem =g
(c)  ohied YT : =TT AETTH (1) HfaTen
(dy (iv) Ferreht

2’3 = T Ty =4

(1) (a)-(1). (b)-(11). (¢)-(1v). (d)-(111)
(2) (a)-(111). (b)-(11). (¢)-(1). (d)-(1v)
(3) (a)-(11). (b)-(111). (e)-(1v). (d)-(1)
(4) (a)-(111). (b)-(1v). (e)-(11). (d)-(1)

Options:

61547518297, 1
61547518398, 2
61547518299 2
61547513400 4

Question Number : 125 Question Id : 6154754715 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Taetl =at = faefi 729 wiafved o1 ¢ =21 9 Tt 22 wiafved = =3 oo =0

=ai-1 =11
(a) I TS (1) nﬁ‘q
(by  Hfe FfEEfen (i) Toem =g
(c)  hicd =T : ATAT AFIE (iii) e
(d) (iv) oFerreehi

T3 =1 T faweT =4

(1) (a)-(1). (b)-(11). (¢)-(1v). (d)-(1i1)
(2) (a)-(111). (b)-(11). (¢)-(1). (d)-(1v)
(3) (a)-(11). (b)-(111). (e)-(1v). (d)-(1)
(4) (a)-(111). (b)-(1v). (c)-(11). (d}-(1)

Options:

61547518297, 1
61547518398, 2
61547518299 2
61547513400 4

Question Number : 126 Question Id : 6154754716 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

SRl fswtl’ 2 9T S, 9, 3 d 9W 2 % 2 T S © O TSR Uihvei-HEA € TRs B AR fawed 1
=1

(1) 10711, 11653. 12454 9 15594
(2) 11653, 10711. 15594 9 12454
(3) 10711, 12454, 15594 & 11653
(4) 12454, 10711. 11653 15594

Options:

61547518401, 1

61547518402 2

61547515402, 3
E1547518404. 4

Question Number : 126 Question Id : 6154754716 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



=1

(1) 10711, 11653. 124549 15594
(2) 11653, 10711. 15594 9 12454
(3) 10711, 12454, 15594 9 11653
(4) 12454, 10711. 116539 15594

Options:

61547515401, 1

61547515402, 2

E1547518403. 3
515475158404, 4

Question Number : 127 Question Id : 6154754717 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

faheg 7t =4

(1)  FooeT, T, SIS 9 957
(2) =g, WHAISE], WA d Foor
(3) TSI, Foer, 95T d WIS

(4)  TST, A, Foorl d S5E
Options:
61547515405, 1
61547518406 2
61547518407 2
51547518405 4

Question Number : 127 Question 1d : 6154754717 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

teefl WONYE |, 2 US|, AF d TEOS HA0 3 30 O 3 WE 33 A9F 5 3 T F9 e
F. rr 1-_!|:I‘ T -.:

(1)  Boo, TE1, SHISET 9 S5

(2)  WSE, WHISE, TS A Foer
(3) TSI, Foer, g5l 9 WIS

(4)  TEE, WHISE], Feor 4 a5

Options:



E1547518405. 1
61547518406, 2
61547518407, 3
E1547515408. 4

Question Number : 128 Question Id : 6154754718 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
T Ot T 91, &, Fad o0 26 TES - J50h ¢ 38 FE S e T2 THRITH 9 1 2 TS HH AR
faereg i <
(1) @9 1976. 79 1975, 7 1988 o 79 1989
(2) =1 1976. T 1975. 5 1989 d &9 1988
(3) =1 1975. w9 1976. 5 1988 9 59 1989
(4) = 1975. 79 1988, 79 1976 @ =7 1989
Options:
E1547515409. 1
1547515410 2

615475158411, =
E1547515841%2. 4

Question Number : 128 Question Id : 6154754718 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
T Ot T 91, &, JEd o0 29 TES - JETh ¢ 39 HE S e T2 THITH 9 1 2 TS HH oA
faepeg i <
(1) @ 1976. T4 1975, 7 1988 o 79 1989
(2) =1 1976. 7 1975. 5 1989 1 &9 1988
(3) =9 1975. 59 1976. 5 1988 d 57 1989
(4) = 1975. 79 1988, 79 1976 @ =9 1989
Options:
E1E547515409. 1
1547515410 2

615475158411, =
61547515412 4

Question Number : 129 Question Id : 6154754719 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



uEE, IS, el 9 TrEnvl 39 T e 2 39 FH S WA 52 TREE ° 12 e % HAEd [ahed
=47 -

(1) 1998, 1993. 2004 9 2002
(2) 1993. 2002. 2004 7 1998
(3) 1998, 2004. 2002 7 1993

(4) 1093, 1998, 2002 9 2004

Options:

51547518413, 1
15475138414 2
£15475138415 =2
61547518416, 4

Question Number : 129 Question Id : 6154754719 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

uTEE, IS, el 9 el 39 FEE TiE 2 39 FH S WM 5 2 TREE ° 12 e % HAEd fdahed
a‘_‘":

(1) 1998, 1993. 2004 9 2002
(2) 1993. 2002. 2004 9 1998
(3) 1998, 2004. 2002 7 1993

(4) 1093, 1998, 2002 9 2004

Options:

51547518413, 1
15475138414 2
£15475138415 =2
61547518416, 4

Question Number : 130 Question Id : 6154754720 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



=

AT, TR TS A, W 991 9 TP W OI0EE § ®E 2 WM 32 ° UEE T U6 2 T A SR
ferher o1 <A

(1)  =eA, e, 9 9 faw
(2)  9H, 9=, famm 3 g
(3) T, 9H, fowr 9 5ea
(4)  fewE, U, Wi A "9E

Options:

61547518417, 1
1547518418 2
61547515419, 5
61547518420 4

Question Number : 130 Question Id : 6154754720 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

TATEAT, TF WS A, Wi WSl 9 FE 9 I99E § @ 2 WM S 2 | Ug U U6 2 s W AT
farehe Tt A

(1)  5ed, T, 9 9 faw
(2)  WwH, 9, foem 3 T
(3) T, 9H, fowr 9 5ea
(4) o, U9, W A T

Options:

51547518417, 1
15475128418 2
61547518419,
61547518420 4

Question Number : 131 Question Id ;: 6154754721 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

o I T i

A% = A ATee FRE A, A0 E @iga, =15 @ e @Sl 91 d 39 Hed 3 58 6 2 T g 41 9o 3

2% A TR fashe Tt =4

(1) [a=Tea®, =FTea®, ATCHFATTIF § TR

(2)  TEEOTEHF, ATCHFATEAF, SOCHF d e

(3) T, ATCHFRATAF, TIaRrTF 9 =T

.

(4) =qTeHF, TTEHIH=, HEOTeH o ATCHRATHF

Options:



E1547518421. 1
B1547518422 2
61547518423, 3
615475158424, 4

Question Number : 131 Question Id : 6154754721 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

T2 = W A TR A, A0 A "ige, =15 e o8l 91 J 5 Ed 2 5@ wE

THE F9 AR TR T AT

(1)
(2)
(3)
(4)

Options:

[E=TeT, =TeaF, ATHFATTHF 1 T

TS, SATCHFATEAF, =eAF o [SeReA®

e

e, ATEHFATEAS. S99+ d =S

s

=[O, (A, TN E o ATCHFRUTTaE

E1547518421. 1
E1547518422. 2
E1547518423. 3
B15475158424. 4

[

' TETE 3 Al

5,

q

Question Number : 132 Question Id ;: 6154754722 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

1, = T30, e §0F o T390 7 2 @2 TH 2 3@ F9 3 W6 TE #0 AEd e g

(1)

(2)

(3)

(4)

Options:

615475184251
E1547518426. 2
BE1547518427. 3
5154751584258, 4

Question Number : 132 Question Id : 6154754722 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



T, =T T, e qE 9 O AT 3 e T 7 0 3 T s # R e g

(1)  feodt m, wifyma fimen, R 2 =5 @ T =

(2) TR =, o m, wiiee g 9 e w5
(3)  TWAE TFe, TRl W, WER 51 e 9 A e

(4) foorfl W, THTE e, TER B T 9 ST e

Options:

61547518425, 1
61547518426 2
61547518427, 5
61547518428, 4

Question Number : 133 Question Id : 6154754723 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

e HEeTHR, EUS-Ovsd, Herd WA § &1 9rE 9 SPH| H9 HE 34 AarEAend g |
ST 31 T FH

(1) T, =ear o, o e § giefia w2 agad]

(2) T, =T T, = v | e w5 asa
(3)  rom we, = v, ATy @ gieia = asadl

(4) rom 7o, FESfiE B aeAt, ey = ot

Options:

615475183429, 1
15475138420 2
61547518421, 5
61547518422 4

Question Number : 133 Question Id : 6154754723 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

T2 TEeTHE, WUS-9UE, HiiEcd WEE O #ed WEE § SH] RS GHiE EH dd=Eens 9o 2
-ﬂi..i-."_q:il Elrl-r }_'_:':::I:? a;q :

(1)  fora=mg, 5om vmi, =on T 9 gt w59 a5ae

(2) o, dion e, = et d geeiie w2 e
(3)  =om T, = 9, AT @ geia w5 asEe

(4)  om T, WS B seEet, ey | = emi

Options:



E15475184259. 1
61547518420, 2
515475158421, =
615475158432, 4

Question Number : 134 Question Id : 6154754724 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

foos, ST, AT A TS ST § S 39 § TEe 3 % &0 3 Te HH HATEe 19T =T ;
(1) W -T1A, -1, T 1 SFR-TE
(2)  em-A, PR, F9-E § -

(3)  HA-id, WHiI-Tid, FERE-TE @ ST

(4) T, TR -9, SIR-Td § SEi-Ta

Options:

15475184331
E1547518424 2
61547518425
61547518426, 4

Question Number : 134 Question Id : 6154754724 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

(1) -1, TR, Fa-T04 9 San-11a
(2)  SIW-A, EEPR-TE, ST § -

(3)  FA-TE, PH-TE, TEER-TE 9 SR-T

(4) FA-T1d. BEFR-T. S\R-Td o WHi-a

Options:

61547518433, 1
61547518434 2
61547518435 =
15475138426 4

Question Number : 135 Question Id : 6154754725 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



=TS o S, T @ |, 01 A0 G FAh 3 55 0 3 T 5 1§ ST 5 T FH U

(1) =8 Tt s 2, A= 6, 9 TEHT JEed

(2)  "EH TEed, T ST, AW T @ ST e
r -, : ! - = !
(3)  =T=A1 e, TEHI H=ed, @A 2 9 A A

(4) T S, ST EL, YEHT HEed O ST e

Options:

£1547518437. 1
61547515428, 2
61547518429,
61547515440 4

Question Number : 135 Question Id ;: 6154754725 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

%275 9 39T, TH ok =, A1 d A ] TAh S T FA S A 3 2 g J S HAT

(2)  wEE H=ed, faeEn I, o T AT
(3) 7= FE, TEA] HEAd, fAE IR 4 AT A

(4)  Ta=en 3, 1= e, 9eE gEed d A T

Options:

61547518437, 1
61547518428, 2
61547518439 2
61547513440 4

Question Number : 136 Question Id : 6154754726 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



=3 31 A fa 18 7| 7% (A) FEeE A FesEen® 9 4 230 (R) 5 =1 wE

FHI (A) : TS A S T T 5 Gaal SUS 21 B S U

Tt (R) : S A TOE B I g2 -g22 THi 9Tl 3% T 91 U
ﬁ%faTFﬁéfT$Fﬁﬁfﬁ:

(1) A@IRTEITFITR). (AT HFE T

() (A)F (R)FW SF T A (R). (A) T = FAT R T

(3) (AFFTA(R) TATT

(4) (A)TEUdR IHT

Options:

61547518441, 1
61547518442 2
61547518443 =
1547515444 4

Question Number : 136 Question Id : 6154754726 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
3 2 o fami 712 A1 79 (A) e =i Fe=aen® 99 | 230 (R) fiw =1 Frm

FEIH (A) : T 9T S T F 5 Hdol S99 91 BT SAAH U

i (R) : ST e @O = R g22-g22 Tl dian|’ 9% Eee 9 1)
ﬁ%fHTF%§f$$Fﬁﬁfﬁ:

(1) (A7 (R) FU 2k 99 (R). (A) 37 &5 Fr0 U

() (AT (R T FTFH T A (R, (A) T THE FAOE T

(3) (AFFF R T

(4) (ATEEdUd@R) FIHT

Options:

£1547513441. 1
61547515442, 2
61547518442 5
61547515444 4

Question Number : 137 Question Id : 6154754727 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



72 21 F9F T2 72 A1 3% N (A) A T Fe=EeE #5991 g0 T (R) e @b wE

I (A) : T Fgar AgHF Haa 31 oF = U w9 e o a4 el e e O

51 (R) : T ERIu Zal TE FEA ‘R’ W U e T T Iaa] |
2’2 =1 %= fawe =41

(1) (AT (@R IUFHFd (R). (A) T T 50 ©

(2)  Qd@IuEFTT ®R). (A) DTS O AL T

(3) (A)Fmud(R) TET

(4) (A TEaud R FHT

Options:

615475158445, 1
61547518446, 2
61547518447 =
61547513445 4

Question Number : 137 Question 1d : 6154754727 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

=3 3 YA fo T8 7 3 M (A) FEIA AN e e a gu i (R) e A e O

FEIE (A) : T HiGAT SIHF FiaaT 21 56 UH B9 U TH9 = A 56 @S &1 [Eaid 99 el v
{9 (R) : Fn oAt 231 =7odt e w2 W U Ted $9an T IavE] U

372 =1 s e =4

(1)  (A)d (R) I3 T9 (R). (A) T & Huoy U

(2) (AT (R) 0 3 T 19 (R). (A) 3T 5 FA9 = T

(3 (A)FFTT (R) TGO

(4 (AR ud (R IFHT

Options:

61547513445, 1
615475138446 2
61547515447, 5
61547515448, 4

Question Number : 138 Question Id : 6154754728 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



=2 2 FUE TE T2 A1 3% (A) TR TH FvsEeEE w9 29 (R) 9 T e O
FEIE (A) 1 TE Ig F T2 9T W I AEen 5 9= U

{5 (R) : ‘2{s 39018 2 FAEF YA IR 4 9% 9 S U

b}

Eaﬂﬁémﬁﬁ

(1)  (A)F R ITCFHFFTI (R). (A) T =5 FAm ©
(2) (AT (R) 2T 3% 71 (R). (A) 31 T3 HA0 2 T
(3) AFFTTR) TEET

(4) (A)TEd U d (R)3H T

Options:

51547518449, 1
61547518450 2
61547518451, =
£1547513452. 4

Question Number : 138 Question Id : 6154754728 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

%3 31 FYA o0 13 A1 76 (A) FEIR A Fysaens 599 4 33 (R) TFa =i o v

FEIE (A) 1 TE I F TS 9 W I AR TR 39 T
7 (R) : ‘=2 3999 =1 FUEF 9Na e 3 58 W S99Rd U
2’2 =1 %= fased =4

(1)  (A)d (R) 20 FF 93 (R). (A) 37 %5 Frm ©

(2) (A d @R B SH T (R). (A) T FE BT A T

(3) (A)IHTd(R) T

(4) (A)T=a o d (R)IF U

Options:
15475154459 1



E1547518450. 2
515475158451, 3
515475158452, 4

Question Number : 139 Question Id : 6154754729 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

73 21 FYF T2 72 A1 3% (A) IWE TH Hy=aea® F99 U A 39 (R) {5 a0 wo T

STHTE (A) : T W 2 FHEO AN T EE U d S 21 SR e |
T'g = % fawed T4

(1) (A)d (R) =@ 3% 9 9 (R), (A) 31 T8¢ Frm v

(2) (AT R)FTIF T T (R). (A) =TT = FE =

(3) (A)3FF U & (R) Tora U

(4) (A)TEAa T d (R) 3 T

Options:

61547518453, 1
61547518454 2
61547513455 =2
E15475138456. 4

Question Number : 139 Question Id : 6154754729 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



73 21 HYF o 72 A1 3% (A) FEEE T Hy=Aea® 99 U 9 g9 (R) TFF O wor T

ST (A) : TH 2 WU AN T EE U A AN 21wy i

i (R) : SATumie % SAehR = 1 01 ==l e T9E U, 5EA 9T d TEE 2 0 1 S=6) )
2’2 = Tt T =4

(1)  (A)d (R) 2 36 79 (R). (A) 31 T H0 U

2) (A)d @R EUFFETT (R). (A) I FE FAO AL T

(3 (AFFTI (R T

(4) (A)TeE T d (R) 3 T

Options:

51547518453 1
E1547518454 2
61547518455
61547518456, 4

Question Number : 140 Question Id : 6154754730 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
72 21 F9A T30 2 9 7% (A) S99 =14 Fv=Ead 7299 T 39 (R) 9 1 FEe
AHIA (A) : T A U, WA o SFEH, WE Hd A0 SR w93 31 T 1)
T2 A
(1) (A)d @®)IEIEFTd (R). (A) T &3 FA01 T
(2) (AT RICIFATR). (A)TFE FAOUE T
(3) (A)FFUA(R) AT
(4) (A)TEE T E (R)3F U

Options:

61547518457, 1
61547518458, 2
1547513459 2
1547512460 4



Question Number : 140 Question Id : 6154754730 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
73 31 YA T2 T8 ) 76 (A) FESH A s e U A g (R) 5 A0 e T
== A
ﬁ%‘aTF%%ﬁTﬁFqifﬁ:
(1) (AT @R IEITFTT (R). (A) T TS T T
(2 (AdREZOIHFTT (R). (A) T FATAE T
(3) (A)FF T F (R)Ted ©
(4) (A) T T H (R) 396 T

Options:

61547518457, 1
61547513458 2
1547513459 2
61547515460, 4

Sub-Section Number: 2
Sub-Section 1d: 615475209
Question Shuffling Allowed : Yes

Question Id : 6154754731 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (141 to 145)
Cuesticon Label | Comprehension

T Tan 2 Uet T uled sue 73 fon 2 e 2w A wee faweg fi w5 (91-95)

d o5 TndE T sl A T ) u ww W @en’ (svRew), d zmen (el Toonds ) 9 H
FH B o FOAE wF I UG w1 U PRI F WONdE T E A e 9igY, ¢ GE AR 5F
(STeiaTs, WSisls, BUAIS)] 3 T @, Siw| 0 SR 9|0 9 EHAY: GETE, dEe d S,
H G-I =70 TS5 - BEIES, TRIs-EelAls B 9 S Ul 328, AL 900 3 e IE B AEe
0 9 3 UTET WA P AFE F WA wE W21 U T 323 99T 31 d I5eNs 9 39 9T AR
q FAUHATS FY 573 A

Sub questions



Question Number : 141 Question Id : 6154754732 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

T= 919 7 30 WONEF FI W ;

(1) =5 (2) TS
(3) T (4) T==T
Options:

615475158461, 1
E15475184E62. 2
E15475184E63. 3
515475158464, 4

Question Number : 142 Question Id ;: 6154754733 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

‘ZEIs TR EY

(1) AT FH F & gI G v

(2) TR-ERdigEn:Ad= sy

(3) @Y FH 9 FHHA 0 M FH FH A T FET T

(4) T =afE ww w= w0eE & gEa g o

Options:

15475183465, 1
1547518466 2
61547518467, o
61547518468, 4

Question Number : 143 Question Id : 6154754734 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

':1:' :i P s (3] :|,:—,-|'|—-—'T-' = Y
(3) EAG] (4) w=rE
Options:

E154751846%9. 1
61547518470 2
615475158471, =
E1547515847Z. 4

Question Number : 144 Question Id : 6154754735 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Correct Marks: 2 WrongMarks: 0

AT BT U

(1)  Tee T (2) 33 TS
(3)  HUWY HEHE (4) TURY IFAF
Options:

615475184721
E1547518474. 2
E1547518475 2
B1547518476. 4

Question Number : 145 Question Id ;: 6154754736 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

(1) il (2) =9
(3) =W 4) =8
Options:

E1547518477. 1
E1547518478. 2
E1547518473. 3
E15475158480. 4

Question Id : 6154754731 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (141 to 145)
Juestion Label - Comprehension



w'we fae 3 o afed 3w 2s fam g wene 2 W wam e fwew f g (91-95)

d ¢ wndE e s A N w u aw § e’ (smew), d s (el woomd= ) 9 H
F4 TR o T oF 36 UG wWaT U] SR 9 Y R 9 AT o 97gu @ HAWE AR 3
o ams’ wfsd g wwndw A wd v, T’ 99 oW = 9 Seens ®9 e 7| 93, g3, 16 9

aIge = - FA W OGR! g (S, Hig, W) A C-afans’ @ifsd g wondsw e e v
(SeiaTs, HSiss, ®UAS)| $A 7 @, wiw| 0 AT 9|0 9 FE: WieTE, 9Ee d S,
Fi T-Tamr B TS - FEIAS, TRIS-EENATS B ° SAE Ul 323, AL W0 3 e IE B AR
aU | 3 U 92D I RS F WA A w191 U I 328 9w 3iehe 9 SIaiens d 39l 99 aiEn
q FAAIS T #92 A

Sub questions

Question Number : 141 Question Id : 6154754732 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

o] T 7 g O w9

(1) ==1s (2) =TS
(3) =i (4) ==
Options:

615475158461, 1
E1547518462. 2
E15475184E63. 3
515475158464, 4

Question Number : 142 Question Id ;: 6154754733 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

(1) AT F T 4 g A

(2)  TemE-2F 4 gea e e 9 wEE v

(3) @MY FH 9% FHHF 0 M FH FH AW T FE T
Options:
£1547518465. 1

61547515466, 2
E1547518467. 3



E15475184658. 4

Question Number : 143 Question Id : 6154754734 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

(1)  AEE (2) rEIS
(3) =TT 4) =i
Options:

E154751846%9. 1
61547518470 2
615475158471, =
E1547515847Z. 4

Question Number : 144 Question Id : 6154754735 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

AT BRET-EY U

(1) e SOy (2) T TG
(3)  HUWET HFEEF (4) TEUW FFAF
Options:

E1547518473. 1
61547518474 2
615475158475, 3
E15475158476. 4

Question Number : 145 Question Id : 6154754736 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

(1)  =®= (2) =T
(3) EEIE (4) ==
Options:

B1547518477. 1
61547518478, 2
615475158473 3
E15475158480. 4



Sub-Section Number: 3
Sub-Section 1d: 615475210
Question Shuffling Allowed : Yes

Question Id : 6154754737 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (146 to 150)
Cuesticon Label | Comprehension

@' fod 3 Ut 7 wied 3% 2 w2 fo0  gene § w23 WA HAee aehed T =94 : (96-100)

SOE] 9T = AT 4 O 3 6 g T 9 U W Fiedl 19 2 O 5 W W 3 3w e
759 TE 7 T e 2 S Senm AEE = S g9 BREl 91 31 SPRI-TEEl SAE AT 7 TR
T 1815 £. T TN HAT W1 U) 36 Fiq = ool & e W O F AR U9 ¢ Al @ aE 59 9

ST A T T

= STYHF A 9Te 54 Frea-Fiad 3 SR 90 ° 'F A 79 AR o AEd 5E 6

73 e Fid T2 IR THE T| 37 IR 9 Bl g guiEg #9 FEr Ty fGE 59 = 9 9 1993

3. = FIE| FA-TMfECT 2 SR ° Rl G mgs d g Wi 52 e A 8 Shed —Hred
Sub questions

Question Number : 146 Question 1d : 6154754738 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

TUAT, TS TEAT FEHT T A

:1] ;_h : — ﬁl‘ :2] L [
(3) = Heaerl (4) THEE

w

Options:

1547518481, 1
E1547518482. 2
61547518482 o
61547515454, 4

Question Number : 147 Question Id : 6154754739 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



SHAT = @Y 31 ST U

(1) e 7H (2) ran fa=m
(3) T FH@ (4) T\ Hier
Options:

£1547518485. 1
E1547518486. 2
E1547518487. 3
E15475158488. 4

Question Number : 148 Question Id ;: 6154754740 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

7 1993 = =H TR AT A

(1) & (2) =EE 2 g9
(3)  HE S gl (4) FFEE TE
Options:

61547518459, 1
E1547518430. 2
E154751584391. =
515475158452, 4

Question Number : 149 Question 1d : 6154754741 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

Feft fr ‘ayst’ d Fieg @i @ Fd 18 9l 9 2 sfed e & s U

(1) % AWl T (2) = F=E
(3) ATH| FETHAT (4) WA FUT TR
Options:

615475158492, 1
E1547518434. 2
5154751584355 3
5154751584356, 4

Question Number : 150 Question 1d : 6154754742 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O



(1) T o= 9gam (2) I TE
(3)  H AT (4) TEAY O A=
Options:

E1547518457. 1
515475184398, 2
515475158455 3
61547518500, 4

Question Id : 6154754737 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (146 to 150)
Cuestion Label © Comprehension

T v {237 2 T 1 ufed 99 2 52 B 2 g 2 =E 9 e e T =T (96-100)

St 7 3 forE & e sfen s o T e BRe e a Sei-wrd seem i ) wE
T 1815 3. 3 S wee wE ¥ g i = el & Tl W U F w1 3 A am e

R AT A 9T fod FeA-Fiad 3 SO 9N | B A UE SATE 9 i 9gA1 e

72 AE Fd T2 IR THE F| T AR ¥ 5 3 guig #9 FEn Y G 54 = F aEEE 1993

i
=T

2. EST| HA-HM(EcT g Fq9E = Hal G FgR d T G 52 A= T 797 Hehe - e
Sub questions

Question Number : 146 Question Id : 6154754738 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

.-. =] ?3 :ql: Py _(_;I mﬁ‘ :

(1) AR AT (2)  TrATEE]
(3) =W Heawdl (4) TEE

Options:



E1547518481. 1
B1547518482. 2
51547518483, 3
615475158454, 4

Question Number : 147 Question 1d : 6154754739 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

Sl | SE g1 S O

(1) i 7 (2) e f=m
(3) T HAUT (4) T Hier
Options:

51547518485, 1
61547518486, 2
615475158457, 3
E1547518485. 4

Question Number : 148 Question Id : 6154754740 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

7 1993 = FH AR AR A

(1) o (2) wETe & gy
(3)  HE S gl (4) FFEE T
Options:

61547518459 1
615475158430, 2
E1547518451. 3
E15475184352. 4

Question Number : 149 Question Id : 6154754741 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

F2t e AYH 1 T G AE FId T2 HEAT 9 2 Sed B 91 15 T

(1) " AWl T (2) = =
(3) =Wl FETAT (4) YW FUT T
Options:

615475184392 1
61547515434, 2
E15475184585. 3
E15475184396. 4



Question Number : 150 Question Id : 6154754742 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

?_Aﬂ]]:l -'_|-|.'I'—E] =L n. -'—_: :*’;-‘ ::]j'.‘ -Jqu;l'—] J,q- > S

(1) T I YeaTe] (2) L. T
(3) =&l A (4) g9 Tz Ao
Options:

E1547518457. 1
515475184398, 2
515475158455 3
61547518500, 4



